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INSTRUCTIONS :

1.

© oN @

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS TEST BOOKLET DOES
NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s.responsibility to encode and fill in the Roll Number and Test Booklet Series Code A, B, C or D
carefully and without any omission or discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will
render the OMR Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in the Box provided below. DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English. Each item comprises four responses
(answers). You will select the response which you want to mark on the OMR Answer Sheet. In case you feel that there is more than one
correct response, mark the response which you consider the best. In any case, choose ONLY ONE response for each item.

If you decide not to attempt a question then darken the corresponding circle below #.
S No. Response #

111 ®B®0C0 | @

You have tomark all your responses ONLY on the separate OMR Answer Sheet provided. See directions in the OMR Answer Sheet. Use
only BLUE/BLACK Ball Point Pen to answer in OMR Answer Sheet.

All questions are compulsory. Each question carries one mark. For each wrong Answer, one fourth (0.25) mark shall be deducted.
Before you proceed to mark in the OMR Answer Sheet the response to various items in the Test Booklet, you have to fill in some
particulars in the OMR Answer Sheet as per instructions mentioned on the OMR Answer Sheet.

After you have completed filling in all your responses on the OMR Answer Sheet and the examination has concluded, you should hand
over to the Invigilator only the OMR Answer Sheet. You are permitted to take away with you the Test Booklet, along with candidate copy
of OMR Answer Sheet.

10. Sheets for rough work are appended in the Test Booklet at the end.
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Which of the following is NOT a feature of communication?

(A) Communication is a two-way process. (B) Communication is an ongoing process.
(C) Communication is a stagnant process. (D) Communication is a dynamic process.
= @ BF |y & sifae @ § 7
(A) dwor fgamt ufear & | (B) €YY SRATHETA! URhAT B |
(C) @ fox wiseam & 1 (D) €YY TATED AT & |
Fill in the blanks with correct Preposition from the choice:
(i) Harsha was standing Swapna.
(ii)) Madhu plays Tennis Chess.
(iii) Share the cake the two of you.
(iv) He divided the property his four sons.
(a) besides (b) between
(c) among (d) beside
(A ()@ (i), (i), (iV)-(d) B)  ()-(d)s (ii)-(@), (iii)(b)s (i)-(c)
(©)  (i)-(c), (iD)-(b), (iii)-(d), (iv)-(a) (D) (@)-(b), (ii)-(a), (iii)-(d), (iv)-(c)
Which of the following refers to the study of eye contact?
(A) Proxemics (B) © Oculesics
(C) Haptics (D)  Kinesics
e & 9 fopmer way g diede & ST W T 7
(A) R (B) cifagufaad
(C) ®ufeswm (D) wrEAbed
Match the following parts of speech:
List T List I
(a) Absence (i) Verb
(b) Busy (i) Adverb
(¢) Develop (iii) Adjective
(d) Greatly (iv) Noun
Choose the correct answer from the options given below:
(A (a)-(iii), (b)~(ii), (c)-(1), (d)-(iv) (B) (@), (b)-(iv), (c)-(iii), (d)~(ii)
(©)  (a)(ii), (b)-(iv), (c)(1), (d)-(iii) (D) (a)~(iv), (b)-(iii), (c)-(i), (d)~(ii)
Fill in the blanks with the correct verb that agrees with the subject in the following sentences:
(i) Each student informed about the cultural programme.
(i1) Neither Ravi nor I any interest in this project.
(a) was (b) were
(c) has (d) have
(A)  ()-(a), (iD)-(d) B)  (D)(b), (i)-(c)
(©)  (i)(a), (i)-(c) (D) ()-(b), (i)~(d)
A generally accepted opinion or decision among a group of people is:
(A) Persuasion (B) Negotiation (C) Consensus (D) Discussion
TN % W6 & " QAT @igd aitad At ol g § -
(A) T (B) wwmMw [ @@ (C) Hdw (D) uf=at
All the skills mentioned below are referred to as Interpersonal skills EXCEPT
(A)  Soft skills (B) Leadership skills
(C) Communication skills (D) Hard skills
fer aftfa Tl SisTal & siadafeds st & & A Ifeaiaa foan & fama & -
(A) g Be@ (B) ga sig|
(C) EUWT it (D) @3 i
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11

12

A car has a four-digit number, such that none of its digits is 0. If you remove second or fourth digit,
resultant three-digit number is a perfect square. If you remove first digit, resultant three-digit number is
a palindrome. No digit in the number is repeated more than twice. What is the remainder left when square
of the car number is divided by 5?

Th B Bl T Sl P G 36 TbIK 5, ftb 31 w15 ot afb 0 =& ¥ 1 afy oy g@¥ ar 1Y ok Bl & ¥,
A GO A el @l FE Ue IOl o el ¢ | AT ST UEW ik @l g @, Al UILOTEl A oihl ol S U
fadirae (Afrsm) ol 21 e § i o ofe & A & orfes SevEn TE S ¥ | SE B B G b A wbl
5 ¥ fawisd fpan Sitan &, @ @ QI S § 7

A) 1 B) 3
<€ 4 D) 2

Below are given a set of analogies. Which of these analogies are NOT appropriate?
(a) Ocean: Pacific :: River: Nile
(b) Zoology: Animals :: Cardiology: Brain
(c) France: Europe :: China : Australia
(A) Only (b) (B) Both (a) and (¢) (C)+ Both (b) and (c): (D) Only (c)
I STEuais B UH T faam wen ¥ S § - SEud Sugded el € 7
(a) WEMEN : UeMd @ 94l : Aid
(b) wiftr fagma : gy o wISAWISH : ARG
(c) WiE : AW : A o SiefeEn
(A) e (b) (B) ()X (c)qM  (C). (b) &R (c) T (D) e (c)

Below are given a set of analogies. Which of these analogies are appropriate?

(a) Prime : 1 :: Composite ;8

(b) Pedology: Soil :: Demography: Population

(¢) Sky: Cloud :: Canal : Mountain
(A) Only (b) (B) Both (a) and (b) (C) Both (b) and (¢) (D) Only (c)
Y ergEuarstl B UH WS fm T 31 F ¥ HH-d SEya Sugdd § 7

(@) 9~y : L9\ s 8

(b) USirSl : f# o SeEiRegey @ SHEEn

(c) SRIYT : SI&w :: 78 ; gdd

(A) aw (b) (B) (a) T (b)a (C) (b) &R ()3 (D) e (c)
"What would be the next two terms in the given alphabetic series: bbCCC, cccEE, eeHHH, hhhLL,
........ y eeeen "

(A) 1IPPP and qgqVV (B) 1QQ and qqWWW

(©) 1QQQY and qqqWW (D) 1IPP and qqVVV

TS gUHTE @ § SN &l U8 -9 & : bbCCC, cccEE, eeHHH, hhhLL, ........ s e ?
(A) - lIPPP.td qqqVV (B) 1QQ wad qqWWW

(©) 1QQQ Twd qqqWW (D) 1IPP wad qqVVV

"What would be the 9t term in the given alphabetic series: zZYw, xWu, vUs, tSq, «--------- m
T Ul gEer § 9df Ug BT BN : zYw, xWu, vUs, tSq, «-eeeeeees ?

(A) he ®) jlg (C) mOk (D) fTp
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13  Below is given a venn diagram. Irrespective of what normal belief is, the depictions in the venn diagrams
are to be considered correct. Based on this diagram, select which of the given statements have a possibility

of being true.

Statement A : Some stickers are sheets

Statement B : Some stickers are mats

Statement C : No sheets are mats

Statement D : Some carpets are stickers

Mats Carpets Sheets Wallpapers
S ;Wallpapers I

(A)
(B)
©
(D)

W us 99 emiw T e ¥ ey fasn A o Of 8, 9 emyal ® ¥ U fusvn @l @@ " s anfeu)
T ANG & MUR WX U U wyAl ¥ 59 B9 &1 T 89 & G961 &, IGBT 999 BitaT|

Statements A, B and C only
Statements A, B and D only
Statements A, C and D only
All Statements A, B, C and D

F A : 5 fead e B
FA B : 35 fewd dzw &
Fq C : &z 9 92 72
FF D : P8 FE Rewd ¥

i T sfre AT
T
O

qreTITE

(A)
(B)
©
(D)

Fae HuT A, B 8t C
Had wU_ A, B &t D
Fad wuT A, C 3k D
%I4T A, B, C X D &+t
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14  Below is given a venn diagram. Irrespective of what normal belief is, the depictions in the venn diagrams
are to be considered correct. Based on this diagram, select which of the given statements have a possibility
of being true.

Statement A : Some oceans are canals
Statement B : No rivers are lakes
Statement C : Some oceans are there which are river, pond and canal at the same time.

Statement D : All lakes are ponds"

Oceans

() OF

(A) Statements A and C only

(B) Statements A and B only

(C) Statements C and D only

(D) Statements A, B and C only
I TH o1 @ e T § | 9 fau T S 8L, 99 el ® e g faset @y |el " S aney)|
39 @ % Su WX foU MU el W ¥ T % @ wE BN @ GEIET ¥, e 99T Sl

T A : FB TEETR ToL 8

FYA B : ®ig & 30w A€ R

Ponds

Canals

Fod C : $B TR €, S o6 &g T, ae i 76X &
Foa D : a4 i qeE g

(A) @9 suT A 3 C
(B) %aa ®ud A ik B
(C) haw ®aw C 3R D
(D) %ad BuF A, B &x C
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Below is given a figure, in which a horse is placed on one of the boxes in a square grid of size 5 x 5.
The horse can move in either of the following ways in a single move:

(i) two boxes to either left or right side and one box to either up or down side
(ii) two boxes to either up or down side and one box to either left or right side

(iii) the horse cannot step on a grey box. The horse has to stay within the grid and any move to out
of the grid is NOT legal.

How many white boxes are there which cannot be covered by horse within 3 moves?

I we ol & TE ¥, TEH U@ G Bl S x5 AR b AMeR B b T uw S uX @ TR | ST U6
& g ¥ f=fefad & @ fed off 9l @ a9« g ®:

(i) = @™ 91 a9 S A1 TR SR SR U @Ml HUT AT A Bl S

(i) = @™ I A HUL AT A B AR X TH @ Ar o S ST A1 IRy Sy

(iii) =T P(grey) @H ¥ AT TE @ "ahaTl O TR B s F @ e 2w oiR firs @ amex W % fog
i o a1 B A 8

WY fhaw e @™ ¥ 2 3 9t & 91 g dax E fhar o1 gepar ¥ 7

SHEER
% £

DDID
|

]
L]

(A) 0 (B) 1 ) 3 D) 5

.

How many triangles are there in the given figure?

& e el § feban Brger ¥2

A) 4 (B) 6 <€ 8 D) 9
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19

In a coding scheme, each letter in a word is written as a letter after shifting N positions ahead in English
alphabet, where N is the number of vowels present in the word. For example, BAT has only one vowel,
so it will be coded as CBU. A five letter word LOUIE is taken. It is coded according to this scheme. The
resultant is again coded as per this scheme, and so on, this process is repeated for 10 times. What will
be the final coded word obtained?

T BT AT A T8 T U 9T & T & Bl AT SIS quiHTar SE@aT & oTfat N @l 9% o Radea]
ferar simar %, 516t N, ot & Hioe @i ) §E & | SaevEsy BAT ¥ had s @ @, gafe 38 CBU & &
¥ apifsa fopan S| we dtg a1&) 1 91sd LOUIE feran Siram %1 38 39 dieir & oTJdR sifsa fohan mam & | afeoms
aﬁﬁm%sﬂaﬁw%wﬁﬁaﬁww%mwwwuﬁwaﬁIOWWW%IWWW
foman gom cifem s/ @=-—=T B ?
(A) HOYPX (B) PSAMJ (C) SNIJZK (D). QTZNJ

"In a coding scheme, a word is coded as product of positions of its letters in English alphabet. However,
for the purpose of calculating product, only unique letters are considered, For example, in word FELL,
L would be considered only once, and code would be 360. Which of these words would have largest
code?"

Teh HIST IS A Th 1E B, Sk & Bl SIS TUHIT § ITeh WAl o [UEGA b &9 H Bifsd fhar srar
T iR, SATE I VAT % IE9T W Had sifadrg SteRl @i € foar sar %, Ieweiorasy 91ss FELL L & saw
Teh §IX HMT ST SR 3ThT HIS 360 NI 3H & fhe 915 &1 Bls G99 IS8T &1 7

(A) ACACIA (B) BASS (C) - SHY (D) DADDY

In a family of six persons, two are males and remaining are females. The members are P, Q, R, S, T and
U. There are two pairs of father and daughter in the family. S is wife of Q. R and Q are siblings. P is
wife of T. U is NOT daughter of S. Below are given a few statements. Based on the given information,
select which of the statements is/are definitely true.

A : The two male members of family are Q and T.

B : S is mother of P,

C : T is also a sibling of Q.

D : T is uncle of Q.

(A) Only A is true (B) Only A and B are true

(C) Only A, B and:D are true (D) Only A and C are true
B Al & Th GIER 9 a1 9oV & o AW Afeadd 1 @6’ P, Q, R, S, T iR U 21 uiar # fyar ok gt
& A E1S, QN uelh IR X QweigX FIP, Tl ueht 31U, S ol Gt & %1 9 5 wo faw wmq ¥
& TE I YR W bH-a/d Hue Hiyg =0 & 98 ¥R, g

A 9f@ER & & 3oy gee Q o T %)

B : S, P& A ¥

C: T, Q& Uk Telax o 2|

D: T Q& dmar g1

(A) BaTATHE (B) %aa A X B @l ¥
(C) aw A, B 3iX D w&1 & (D) %ad A 3R C I ¥
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Mala is sister of Harish. Harish has two daughters: Reema and Seema. Reema is married to Satish. Rekha
is mother of Satish. Below are given few statements. Based on the given information, select which of
the statements is/are definitely true?

A : Reema is niece of Rekha.

B : Rekha is mother-in-law of Seema.

C : Mala is sister of Rekha.
(A) Only B is true (B) Only A and C are true
(C) All three statements are true (D) None of the three statements are true
HIAT SO B 98 21 5 BT & Sfeai ¥ 2 A iR A1 T ady wdver & g2 ¥ | Y@ wdien B oA & A"
P8 HuT g T T e F enuR W gH fb dE-wd wud Tya w9 wd 3E?

A T @ & HaeT B

B : W@, €W & 9§l

C : WIe {@m & 987 T
(A) ®aw B Eér ¥ (B) %ad A 3T C 9 ¥
(C) o wu T& ¥ (D) o g & wig ot wue g N R

Four security guards A,B,C,D are giving duty at four corners of a buiding compound as shown in the
given figure. After sometime A and C swap their places. Then B and D move diagonally to opposite
corners. And then B and D each move one side clockwise and anti-clockwise respectively. D and A then
move two sides each anti-clockwise and clockwise.respectively. What is the current position of C?

A C

B D
(A) Diagonally opposite to D (B) Diagonally opposite to B
(C) Towards the left of B (D) - Towards the right of A

f ™ fax & feame U % FEE A gran mE AB,C,D us wo ufkEt & 9 Bl WS T w® ¥ 55 99y
T A 3T C TT@R 39T W §8d oid & | fe B 8t D fae® faudia «Ff & it sed ¥1 8k e B 8k D
YA AT Ueh it reTvTae e ararad aad & | D ik A fRY & ik shHsn: ammad 8fiX sfomad wid €1 C
B gaq Rafa w7

A C
B D
(A) D& ame faw (B) B % "me faw
(C) B @& 9rf aix (D) A% TEY &R

Which figure will replace the question mark (?) in the given figure?

& T AGR A WeTETEE Taw (?) F W U DG S S ?

' < = ?
L1 N L — o BN
@ |Ms ® (1L © L1 (D) L =~
| ~ < < =<
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24

25

Which figure will replace the question mark (?) in the given figure?

& S ol § g fuw (?) B B opfa wiqentud s ?
32

o<| ool Ao

&$ O Ao & A
(A) # (B) O ©) N (D) O
@\ # A\ m O #
Given below are some statements and conclusions :
Statements : (A) Some cakes are bikes.

(B) Some bikes are hills.
(C) All laptops are bikes.
Conclusions : (I)  All laptops are hills.
(I)  Some laptops are cakes.
(Ill) Some cakes are hills.
(IV) Some laptops are not cakes:
In the light of the above, choose the correct answer from the-options given below :
(A) Only (I) follows (B) = Only either (II) or (IV) follows
(C) Only (I) or (IIT) follows (D) -Only (I) and.(1V). follows
FHF: (A) PY b, 9399 T
(B) ® 9399, Wl €1
(C) g wyerw, a5ed B
frerd : () @ duerw, et €
() & AUE, & ¢ |
(Il) |7 % versar )
(V) | d9ers, &% ol 2
SUET HUl b Yme H, o W faeedt # w2 saw gh
(A) waw (1) STIHT HLAT S (B) aw ar ar (1) ar (IV) STIHIT & 31
(C)  FHaa (I) a1 (IIl) et s 81 (D) waw (1) 8 (IV) s &id £

Given below. is a statement followed by three conclusions I, Il and III. Assuming the statement to be true,
decide which of'the conclusion logically follow(s)?
Statement : The rise in inflation is likely to increase interest rates.
Conclusions :
(I) There will be decline in the number of borrowers.
(I) There will be more deposits in bank.
(IIT) The rate of unemployment will fall.
(A) Only I follows (B) Only III follows
(C) Both'l and II follow (D) Both II and III follow
I ws wee e wan &, fges g @9 freed 1 18R 1w 7Tq | %o &1 9 919d §T a9 $itg {6 difhe
Y ¥ A T SEI A ¥ -9 e SER &Y @ 7
HUT : GEEHIG ¥ ghg § =9 U § ghg @ gwre ¥
(1) ol @ e § BHr S|
(D) ¥ & smrash e

(IIT) ST @t X R
(A) %aw | STERT BT & (B) %ad I a0 &l &
(C) 18R 11 ST gaRwT & ¥ (D) I &R 11l I+ STgaReT & &
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28

29

"Ellipses are two dimensional figure. It has two focii and a major axis and a minor axis. A circle is always
an ellipse with equal major and minor axes."

In the text given above, M is the number of times, a letter has occurred consecutively (like p in dipper),
and N is number of words with four or more letters that have been repeated in the text. What is the
product of M and N?

"Ellipses are two dimensional figure. It has two focii and a major axis and a minor axis. A circle is.always
an ellipse with equal major and minor axes."

T fau T Twe § M fREr eret @l Us @ eifie 91X ARG ®U ¥ RS W @l @ & (99 dipper ® p)
ST N 9 a1 384 &ifss oferdl aml o1 @l S &, S SRS W S’ T gl M 3R N @ S @ar & 7
(A) 6 B) 9 ©) 12 (D) 16

A total of 83 persons are standing in a queue. Between Mahesh and Suresh, there are 34 persons standing.
Which of these could be position of Mahesh so that it is possible to uniquely determine position of
Suresh?

A : 12t from the front

B : 415 from behind

C : 59t from behind"
(A) Only A (B) Both B and C (C) Both Aand C (D) Only B
T ¥ el 83 e @@ ¥ Ry 6K g & A 34 b w2 ¥ e & B we @ Rty @ g
T s g Refq ot fafde wv & fraffa wom dva @ ?

Ao g 124t

B : 4 & 414

C: 9w & 594t
(A) had A (B) B &R C = (Cy A 3R C gFt (D) %haw B

"A cube of side length 6 cm is painted red on all its sides. This cube is cut into smaller cubes of side
length 2 cm. On each of the smaller cubes, the unpainted sides are painted green. Each of the smaller
cubes is now further cut into cubes of side length 1 em. How many small cubes of side length 1 cm will
have exactly 3 of its face coloured green?"

6 THI N ol U B9 % GHT B! bl T L1 F M ST 81 3H B Bl 2 FH YO Al BIE-BIE Tl F B
ST ¥ 1 QA% Bl ¥ U T T M YIS B! Bl T § TN S0l 8| Y% Bl 87 Bl 379 W | FH el
e T H BT ST #1 1 HH Yo A fhas B wA % 3 WAk arad ¥ &0 07T % s 7

(A) 48 (B) 064 (C) 56 (D) 36

Below is given a pair of questions, which are required to be answered, and a triad of statements. Which
group of statements is sufficient to answer both the questions?
Question 1 : Who is sitting opposite to Q?
Question 2 : Who is sitting to the right of Q?
Statement 1.: P and U are sitting on left and right sides of T, respectively
Statement 2:: P, Q, R, S; T and U are sitting around a round table with six chairs
Statement 3 : Q is NQT.sitting on the immediate left side of R
(A) Only statements I and 2
(B) Only statements.2 and 3
(C) All three statements together
(D)  Questions,cannot be answered even with all statements
T WS B U G A E ¥, TTeb S T oAy ¥ iR HUAl B uh ;A A T 1 I 9w IAT A
% T wuEl &1 R wE A § 7
9 1 : Q% GH BIF o1 & 7
7992 : Q% T B JoT 7 7
FH 1 : PR U s T & SR oY & ol 96 8
®®H2:P QR ST @TU%WW@WW%WW%%
FM 3 : Q R & I sl ok e Fer 2
(A) Faa wuT 13X 2
(B) %ad &uF 2 30X 3
(C) Y Buw Us |ig
(D) = By & G o w9l @1 SR 7 eI S "apan ¥
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30

31

A and B decide to travel from place X to place Y by bus. A has Rs. 10 with him and he finds that it
is 80% of the bus fare for two persons. B finds Rs. 3 with him and hands it over to A. In this context
which one of the following statements is correct ?

(A) Now the money A has is just enough to buy two tickets.

(B) A still needs Rs. 2 for buying the tickets.

(C) After buying the two tickets A will be left with 50 paise.

(D) The money A now has is still not sufficient to buy two tickets.

AR B, ®WN X4 WN Y % & a1 96 § B A 999 B €1 A & oF 10 5. € X Iq ae[@ vl
¥ % 9% @ Al % 99 A1 #1 80% T B % Wi 3%, fued ¥ ol 3@ A @I gue 3 :%lsﬂwﬁﬁ
= H ¥ o a1 ®Ye el g 7

(A) &9 A% U S W@ T, 98 & feme @l & faw wara #)

(B) feme wiiet & fw A &1 anft off 2 5. &1 smasgear ¥

(C) T feme wiey & ugarg A & U™ S50 T8 <299

(D) A% ug ol St W B, a' ol ff & febe Wi & T vt & ¥

Three statements are given followed by four conclusions I, 1L, Il and IV. Assuming the statements to be
true, even if they seem to be at variance with commonly known facts, decide which of the following
conclusions logically follow(s) from the statements.

Statements :  (A) All squares are boxes.
(B) Some boxes are coloured.
(C) Red is;a colour.
Conclusions : (I)  Some boxes are red.
(I) _Some squares are red.
(IlT)" 'Some squares are coloured.
(IV) Some boxes are squares.
(A) Only I follows (B) Only II follows
(C) Only HI follows (D) Only IV follows
A woel & a1 A freed 1L 01, 111 &R IV fRw g %1 ot &) 9@ A9 §U, 99 o J 9 &9 8 S ae
¥ o1 ydlia &9 &, a9 et 6 Frefafed § @ sF—ar freed weet & difhe w0 8 STERr Har B
FOT . (A) \HL T S
(B) @B draw T 2|
(C) @ U 1 3
g () o5 9w A 2

(1) B = aw |

() %8 o T 2

(IV) %% Sieq a1 |
(A)  Fad | STETT BT & (B) %ad 11 T EXr & &
(C)  Faa 11l STTER BT & (D) &ad IV SgaRer & &
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Mirtunjay is planning to buy a test series for the CAT exam. Following are the criteria of selection for
any online portal fixed by him:
(a) Must contain 25 Full-length mock tests.
(b) Must contain last 8 years previous year papers.
(c) Must have more than 10,000 practice questions on the portal.
(d) If any portal satisfies all the above criteria except (a) but has more than 20 mock tests and-more
than 5 previous year papers then he will keep that shortlisted.
(e) If any portal satisfies all the above criteria except (c) but has more than 8000 practice questions
and recorded class videos, then he will ask his mentor.
“Let’s crack CAT” is providing online test series for CAT. It is providing 18 mock tests.and 5 previous
years' Paper. It is also providing 12000 practice questions.
Which of the following is correct for the selection of the online portal given above?'
(A) It will be selected (B) It will not be selected
(C) It will be shortlisted (D) He will ask his mentor for selection.
JGsa CAT e & g U o |Iiel @l &l det a1 <@l &1 88% g Mifea el o sy dred
% oy 999 &% 9mes f=falaa ®
(a) 25 qui o1afy e HWidh S B AT
(b) forra 8 aut & few weuar BW @rfew|
(c) dréa WX 10,000 § atfires 1emE wes B @Ifeu|
(d) aft ®Ig A (a) B BreHT IUgad G4 AFGS! B T HIAT ¢, AT I8H U 20 § e Al T 3K
e a¥ & 5 ¥ oiftd YeuS ¥, Al 98 SH erefee |
(e) AR I TEH (c) Bl BrsHT UG THI AFEST Bl T HIAT 5, Withd Iqb T 8000 F 3ifereh ST U
¥ ol o aifedr frete fopw o &, o 98 oo HeR ¥ gRm|
"zd heh CAT" CAT % fq iams & disT UM %Y <@l o1 98 18 #id 2w of fued auf & 5 9uX e
HT T 8| WY & FE 12000 FRE YT M YEH HT @ 5
SR U T SER e dw % 99 & fog Prefalaa § & we-ar @ ¥ 7
(A) b g1 s B) & T g
(C) 3§ gndfaee fpan smom (D) 9% U= HeX § 999 % fag e

Rony is a model and looking for a personal gym trainer. Following are the selection criteria for a
candidate to get selected for the role of a personal Gym trainer for Rony:
(a) Must have completed Bachelors.
(b) Must have work experience of at least 3 years as a Trainer.
(¢) Ifa candidate full fills criteria (a) and NOT (b) but have done a diploma course in personal training
then he will keep that person shortlisted.
(d) If a candidate full-fills criteria (b) and NOT (a) but has done a degree course in nutrition and
dietetics: then he will ask his manager.
Mikal has dene a diploma course in personal training and he has 2 years’ experience as a gym trainer
and he is a graduate from a premier institute.
Which of the following option. below is correct for the selection of Mikal?"
(A) He will be selected (B) He will not be selected
(C) He will keep that person shortlisted (D) He will ask his manager.
T U drew & iR Ueh sl o 3¢ &1 aener & 31 O % foiw uep aaferaora for 21 1 freeT &g U srieare
% I99 & [T 999 % HEee H=iaiad €
(a) @@ qU fepan &1 aTfeq)
(b) ufiters & w4 ¥ HA-G—HH 3 IY B B FIWG BT AT
(c) afk HE IHEAR AMEE (a) B QU HIAT & 3T (b) B T &I BT &, ARBT ferrta ufdreror & fewrmn
B foan &, @ % 39 @A & arefae HAT|
(d) T HIE TFHTaR WMES (b) ® T HIAT & 317 (a) B YA &I HIAT o, Wb G iR srreferd & fsir
B fopan &, 1 9% ST HWe | g
freprer 7 =aferTa wfdreror F fewmn wred fhar ¥ ik SR R IR % w9 H 2 9 @1 orgwa ¥ ol 3 uw wiw
WU ¥ Eah & |
i@ &% @ % fog Frafafed & @ a1 faee @dr 2 7
(A) =T Tge T smam (B) S9a! Tg+ \El femar smam
(C) % ST =i &I MR Bih @M (D) =& 1o AWK | qRI
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Vipul is shortlisting Universities for the master’s program. He has decided following criteria for the
selection of any university:

(a) Must be situated in the USA or UK.
(b) Must provide master’s in management program.
(c) Must have a tuition fee of less than USD 30,000.

(d) If any University full fill all the criteria except (a) but is situated in Australia then he will ask his
brother for the selection of University.

(e) If any University full fill all the criteria except (c) but provide at least 60% - 80% scholarship on
tuition fee then he will ask his father for the university selection.

The University of Edinburg is situated in Ireland UK and provides a master’s in management program
to all National and International students. The tuition fee for the master’s program is USD 50,000 and
provide 75% scholarship to deserving candidates.

Which of the following is true for the selection of University by Vipul?

(A) It will be selected (B) . It will not_be selected

(C) He will ask his father (D)~ He will ask his Brother

fage AT wm & fog feufaeraat @ adfae & e ) e o faeafaanag & @aw & fae sen freafataa

e T far ®

(a) 9udu a1 g ¥ Rud g1 AmfEw)

(b) Y& YR ¥ FdBRT WS BT DIET |

(c) faremr e USD 30,000 & &9 &FT aTfew]

(d) afs #E foufaamem (a) B Bigdt o= Tt TFCET B U Bar ¢, At srrefear & Rug ¥ o 98 e
g ¥ faufaame & 999 % fog gem)

(e) dft @i fauferned (c) &I BlsHT = GHI AHES! B TU BT &, Wi SIM HBIF U HA-T-H9 60%
- 80% B YaH HaT & l g8 o fuar & foufaaea agw & fag g

QRIS aii TR, eadis g & Rew ¥ ol @ i ol siEE B @ e O § S e

HIAT & | T Tk faw e g USD 50,000 % 8fR are Iefieandd &1 75% Beghd Jae didr ¢

et arar fosfaeicns 3 aa 3q Fefad § & 614 a1 a8l 37

(A) & g S (B) 3§ g & S

(C) a5 o frar & g (D) T o WE ¥ gRW

A batsman played (n+2) innings and got out on all occasions. His average score in these (n+2) innings
was 29 runs and he scored 38 and 15 runs in the last two innings. The batsman scored less than 38 runs
in each of the first n innings. In these inning, his average score was 30 runs and lowest score was x runs.
The smallest possible value of xis
@%’mﬁ?%(n+2)wﬁm@ﬁ@1%aﬁwwwﬁW|ﬁ(n+2) it ¥ SHe sf|d @i 29
AT o) S oifqw <t Wikt & 38 &R 15 T @1 i fman ami wew n wifal # yde ¥ dgeEa 3 38 @
¥ HT B WhIX fopaT| 3T WA ®, ST ofEd ®bIX 30 T o1 Ud <JAaH ®bIX X T AT X BT GHIIT a9 Bl
A gl

(A) 2 B) 3 <) 4 D) 1
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Following is the selection criteria for a candidate to get selected for the role of Regional Sales Manager
in any organization:
(a) Must be a graduate with at least 70% marks.
(b) Must have done MBA from any premier institute in India.
(¢) Must have worked for at least 2 years in the sales department.
(d) If a candidate fulfils all the criteria except (a) but has done an additional certificate of course in
sales and marketing then his/her case will be sent to HR Head.
(e) If a candidate fulfils all the criteria except (b) but has experience of 4 years or more working in
the sale then his/her case will be sent to the HR VP.
Sunit has applied for the post of Regional sales manager in the organization. He has completed his B.Sc.
with 86% marks. He has a total of 3 years of working experience as a sales manager. He completed his
MBA with 78% of the score.
(A) He will be selected (B) He will not be selected
(C) His case will be sent to the HR Head (D) His case will be sent to the HR VP
foret o wen # g el wdus @ i 3g Taftd e & fau SEiear @1 9gT amds freEfafed §
(a) B9 ¥ BH 70% 3ithl & GY dh ST AMSY |
(b) wa % fopel A1 wq@ W ¥ THdY fRa g atfeq|
(c) &eq feurde & &1 ¥ &9 2 a9 a% &M fwar &l
(d) afE #E IEaTT (a) Bl BisHT G ATS! B Y HIAT o, AlehT [53h! ST FIUo & ureassy &1 Ueb stfafiad
THIOT O fRaT & ol SHI HIHET TSN &5 @l Wil S|
(¢) T BIE IHRAR (b) Bl BIs®H THI AFES! B T HIAT &, Wb (Sl § BF HTT BT 4 9 1 STY AfH
H AT §, Al STBI AHAT TIS 9T Bl 91 ST
A o e # &g Tkl Ue % Ue % AU ofeEd fRa ¥ 1 I8 86 WiEal el % @y SuEd! fhar 81 39k
U Yed Ao b B W P 3 A9 Bl B HIHT & THT 78 WAl bl & WY THEIY g TR ¥
(A) SH®H TG far S (B) w®a =g A& fepan sam
(C) STHI AT TIN5 hl Ao ST (D) 3T HHET TS AT bl ST S

Following is the selection criteria for any:student to get admission in “Central University of India” for
any Under-graduate program:
(a) Must have completed High school with at least 9.0 CGPA.
(b) Must have been at least 17 years 8 months old as of 15t Jan 2021.
(¢) Must have scored more than 85% in the university entrance test
(d) If students fulfil all the criteria except (a) but have scored more than 7.5 CGPA in High school then
their case will be sent to the Sr. Admission Officer.
(e) If students fulfil all the criteria except (b) but have more than 90% on the university entrance test
then their case will be sent to the Head of the department.
Rishabh has passed high school with an 8.2 CGPA. He has scored 75% on the university entrance test
and he was born on 27 April 2004.
(A) He will be selected
(B) He will not be selected
(C) His case will be sent to the Head of the department.
(D) His case will be sent.to Sr. Admission Officer
foredt oY wae @riH % fau dea gfaRid ofw fsar & yaer v % g fed o B % 99w wds
Frrfafaa ¥ -
(a) &9 ¥ ¥ 9.0 TSAIT & |IY B WA G fBAT AT AT
(b) 1 Sad, 2021 & oMY &9 & &9 17 a9 8 WEM &l eFI aAleu|
(c) Tasfaamaa wasr when & 85% € aifres o wra fobw g @nfem)
(d) afs B (a) l BISHT G AFES! B U B &, ARG 818 Ga § 7.5 TSUT & ifsd @ & 8,
S HHET SIFE TSt SiTeET @l Sl S|
(e) afe B (b) Bl BreHT G WMEST Bl YU A & Wb forufeemaa wder adam & 90% & aifyes ¥ af I
HIHAT fg9TT &6 Y@ Bl WS S|
FH 7 8.2 HISld & 1Y w18 ®ped Urd fopan ¥ | wE faswtaenaa vder wlan ¥ 75% o ura fhu ¥ o SHa
S 27 e, 2004 @i gar ol
(A) @ g9 fopam smam
(B) Sg® 9g9 F&l fepan S
(C) <a® ame fqurT & yg@ & " S
(D) SHHI AT GIEY TSI SAihET % Ui NSl S
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Mandar is going to buy a laptop. Following is the criteria of selection of the laptop given by his father:
(a) Must be for less than Rs. 40,000.
(b) Must have RAM equal to or more than 10 GB
(c) Must have Intel processor of version i3 or above.

(d) If any laptop is satisfying all the above criteria except (a) then it will need his dad’s permission
if it is for less than Rs. 45,000.

(e) If any laptop is satisfying all the above criteria except (b) then it will need his mom’s permission
if it has RAM of more than 8GB. NEWCOM is a new laptop in the market cost Rs, 38000 and
has 9GB RAM.

It has an Intel processor of version i3. Which of the following is the option below is correct for the laptop
given above?

(A) He will buy the Laptop. (B) He will not buy the Laptop.
(C) He needs dad’s permission to buy it (D) He needs mom’s permission to buy it.
HEX T 9@ @E S Vel &1 3eh fUal &R0 4 T 9™ & =9ae & "ies Frafarad &

(a) ®. 40,000 & HH & AT FICTI

(b) RAM 10 GB & s{&R a1 389 aifus &1 aifeu

(c) Tt i3 a1 3G% 918 & AN BT A WHEL BT Y|

(d) afE g Aueiy Sued it wHESt @l g BT § (a) B BISHT 1 39 70 fyar ot srgwfa @1 smasgendr
Bl afe @E 5. 45,000 § &9 @ B

(e) afE (b) H BISHT Bz W TAULIY IUUHA G AFEST Bl YU &Y @1 & al I AT ATGr B A bl
FATELTRAT BN Afe 39 8GB & aifue & 1@ ¥ NEWCOM iR § U =41 ®U2iq & fode diAd .
38000 % 3k 9GB ™ #1

g i3 T @1 g WHER gl ffafad ¥ @ e-ar faee wax fiu U due % faw @@ g0
(A) 9% QUM G| (B) @& Wy 7El @iiel
(C) 38 wle % fog s& fuarsh 1 sgafq @ifewl (D) 39 @ied & fou 3@ A1ar & emafa @i

On the day the triplets were born to Moti, the female dog.
() A weighs more than.B.
(I) B weighs less than.C.
(IIT) Of the three puppies, C weighs the most.
If the two statements are true, the third statement is -
(A) True (B) False (C) Uncertain (D) None of the above
forddl fo wmar o Wl 9, S (triplets) == @ =1 )
(). B & 3m0&m A &1 ao a1fusd 2l
(Il) C & 3&m B &1 a9 &9 |
() A= frestt & § C &1 g9 gaifas 2
afg @ Buw & E, @ AT YT -
(A) §d (B) o (C) v (D) IWE A ¥ 5 TRl
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Four friends Sachin, Rachit, Raj, and Pintu live on separate floors of a 4-floor building, but not necessarily
in the same order. The ground floor is numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numbered 4. Sachin does not live on an even-numbered floor. Only three friends live below the
floor on which Pintu lives. Rachit lives immediately above Sachin.Which floor does Raj live on?

A 1 (B) 2nd (C) 3 (D) 4th
TR e Fiad, ad, U ol fiz @ 49 i WaT % S-S WA U TEd &, Al SEdl e {34y
HH H T IS TR B Gl | ¥, B TR B T 2 €, ofR 3Hl avE 99 HUT b WX el g 4 ¥ atae

Th 9 T I TR IR e Tean §1 fig e vk <sm%ow=ﬁ%wmé’mﬁaﬁ%%lt&"fﬂ afa &
Seh HUX Tedl 1 TS fhH FIX 9X @ &7 C

(A) T (B) & (©) |t (D) 9

Calculate the missing term :

300, 296, 287, 271, _? , 210

(A) 246 (B) 250 (C) =244 (D) None of these
T IS Bl TUET BHIT :

300, 296, 287, 271, _2 , 210

(A) 246 (B) 250 (C) - 244 (D) T ¥ &3 &

Five friends Vaishali, Rashmi, Payal, Nidhi, and Niyati study in three different classes - VI, VII, and VIII.
Each of them has a different choice of pen like— P, Q, R, S, and T, but not necessarily in the same order.
Not more than two or less than one study ‘in any of the classes. Rashmi likes pen S and studies in the
same class as only Vaishali studies, i.e;, VI. Niyati likes pen Q and does not study in class VIII. Nidhi
studies in class VIII and dees not like pen either P or T. Payal does not like pen T and studies in class
VIII. Which pen does Vaishali like?

(A) P (B) R (C) PorR D) T

gt geferdr Jemelt, 1w, g, Fir of frafa dF sta—atem wemeti — VI, VI 8k VI ¥ ded €1 37 § ud®
TET YebTX o U1 78S &edl & - P, Q, R, S, 8% T, wifehst &y =&Y fop 3 oo o =11 fopey oft aerr & <1 @ arfres
Teh § HH ST Tel B & | A3 Bl U S THT & 37X I IET el § Uodl & Rad haw Jemer ugdr ¥, S,
VI # | frafa @ 91 Q udie § iR 9 smadf wem ¥ &l uedl ¢ | FfY sredf wen H uedr ¥ SR SA P TH & &g
Hf 99 yEe T | ure & U9 T uEs T € o a8 wen VI H ued! ¥ 1 IS BT BH-a1 U uEE & ?

(A) P (B) R (C) P=R D) T

Which of the following cannot be a number of the series ?

Prer & & B @ e B we @ awd ?

64, 125, 216, 345, 512,

(A) 8 (B) 729 ©) 27 (D) 999
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STUDY MASTER:

1. Consider the following statements and choose the

correct answer with the help of the codes given below:

Statement (A): Akbar constructed Buland Darwaza in
Fatehpur Sikri in 1602 A.D.

Reason (R): Akbar wanted to make his Gujarat victory
unforgettable.

Code:

(a) Both (A) and (R) are correct, (R) is the correct
explanation of (A).

(b) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

(€) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

1. fFgfafad sy R faarR ST ok -9 iy T Be
D! T ¥ gl SR AT

FHY (U): B 7 1602 5 T HAgR Wbt & gaig
Ao o1 ufor fasar A

HRUT (R) : SHER U ToRTd [dord DI TR
ST TG |

DlS:

%maﬁﬁ@aﬁ?(&mwa(M(mwwm
|

@ I (@) 3R (3R) &l § dfeb (3IR) (@) FT el
B TE B

@& (@ I 2 AfP (3R) Terd B

@h (@ Td & AP (3R) TE 2

1. Ans— (a) Assertion (A) and Reason (R) both are
correct but Reason (R) is the correct explanation of
Assertion (A).

$%l=l ) 3R BRUT (R) S T&T § AfPT SRUT (R), YU
ﬁﬂ‘sﬁaﬂ@ﬁw

www.studymasterofficial.com

@
STUDY MA;TER

2. S8R & &RER & HFfead  forgen!
Uf&rat 3R SMaR! & i 999 # 7R g1rd o)

(@) TATSI HR
(sl errdd

@ #R 95 Srcft
@) fazre™

2. Ans— (a)

Khwaja Mansoor was the painter in Jahangir period. He
had mastery in painting of birds and animals.

SEITR & HTa & TATe TR RAER 31 I ufdr 3iR
SHaRI & ford 991 H HeRd g1 ot

2. Whom among the following painters of Jahangir's
court had mastery in painting of birds and animals?

(a) Khwaja Mansoor
(b) Daswant
(c) Mir Syed Ali

(d) Vishandas

For Complete Test Series, Study Material, Notes, Ncert

3. Which one of the following can be inferred from the
scarcity of currency or coins in the later Gupta period?

(a) Deterioration of Trade
(b) Depreciation of Money Economy
(c) Unavailability of Gold

(d) Self-reliance of Rural Economy

3. IR W F1d H a1 a1 Ryt ) et § fFafafad
QB I STH TN ST Hl 82

(@ HAUR ! TR1aC

@) &I SRITaRI BT g™

() T B Ui

@ Tmfor srferaR Ft Stk
3. Ans—(a)

Foreign trade was at its extreme at the flourishing of
the Gupta period. During the period of the later Gupta
rulers, there was a decline in trade due to the invasion
of the Huns.

T BT & Ha-Faq & JHT faeRh SR U TRH
TR UT| IR W IRID! & HId J §UIl & SHHT &
PR TR § fRTae 3|

4. Which one of the following does not mention the
principle of reincarnation of the soul?

(a) Aranyakas
(b) Jataka Texts

(c) Upanishadas

Gist Books & Question Bank _
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(d) Vedas

4. Frgfofad # @ S 31el & gAeiH & Rigid &1
IS g HRal 82

@) RTIH
CUESIGER D]
@M Iufwg
@hdg

4. Ans— (d)

Vedas do not have mention of the principle of
reincarnation of the soul.

ST H 3T & Yo & RAgid BT Ieord Tei 8

www.studymasterofficial.com

5. Which of the following pairs is not correctly
matched?

(Deccan State) (Founder)
(a) Bidar — Ali Bareed

(b) Bijapur — Yusuf Adilshah
(c) Ahmadnagar - Malik Ahmad
(d) Golconda - Amir Shah

5. fufafed & @ & w1 SireT Ul 6§ A Al @Il 87
(STDH oY) (ARITTH)

(@ SeR - 3fefl st

() SSRGS srfeermg

(T BT - AP 378G

& erpiet - SR 2Mg

5. Ans— (d)

A government official Kutub Shah was the founder of
Golconda state. All others are correctly matched.

T WHRT HABRI Hd T8 eI ST I & GRIUD
A 3 ot et AR B

@
(d) Leaders, who were devotee of Basveshwar.
6. TR B U2
@ S fow] ot ufdq & o= 2
@ SN g5 & Had A1
(& = o7 R & Had A
(1) T, S THAYR o Hed U1
6. Ans— (c)

Nayanar were the devotees of Lord Shiva. Their
evolution was in South India in medieval period. 63
Nayanars played important role in the spread of
Shaivism.

TR WM 19 & Had U1 301 [Ahr™ Adhd |
SRror YRa T g3 U7 | A9 A & TR H 63 TIARI A

TEaqu! YffepT RS

6. Who were Nayanar?

(a) Those who were immersed in the devotion of
Vishnu.

(b) Those who were devotee of Buddha.

(c) Leaders who were devotee of Shiva.

7. The report of Comptroller and Auditor General is
presented by the president in both the houses of
parliament. The ultimate responsibility of appropriate
action on the works done by him is of :

(a) Parliament
(b) The house in which report is presented
(c) President

(d) Parliamentary Committee

7. fria vd weTorE ware &1 RUid wpuf gR1 99a
& 1 Tt A TR B1 I B 1 STP g7 T MY Byl
R 3fd HRATS Fi sifow e a3 g

@ TYq

@ 98 T o Rard o &t St @

& gufa
S Tucy giHfd
7. Ans— (a)

Under article 151(1) of the constitution, report of
Comptroller and Auditor General is presented by the
president in both the houses of the parliament. So the
ultimate responsibility to take action on the notings of
comptroller and auditor general is of the parliament.

AU & TR 151(1) & g4, e 3R geraar
Wieres 1 RUIE We & Il ol § Apufd gRT Ugd
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B S g1 31 FEF® Td
R HRATS B B 3ifgH e ¥e 1 2

8. Article 371-A of the constitution of India provides
extraordinary privilege to whom?

(a) Nagaland
(b) Mizoram
(c) Sikkim

(d) Manipur

8. HRd o AU BT 3w3q 371-T fd SRTYRTI
fIRWRIeR TeH P 82

(@ AIS
(@ foreiRm
) fafae
(S AforgR
8. Ans- (a)

Article 371-A of the constitution of India provides
extraordinary privilege to Nagaland.

YR & TfIUH BT 3Tade 371-T ANTCS BT SRATYR
fRIWRISR ve™ o g1

69\
STUDY MASTER:

1975 & TUTARTA P UHTG Dt SIid P Told QMg START BT
T+ T T AT

9. Which of the following commissions was constituted
to investigate the effect of Emergency of 1975?

(a) Sarkaria Commission
(b) Singhvi Commission
(c) Venkatachaliah Commission

(d) Shah Commission

9. 1975 & TR & YHId B! &g & foae Fufafea §
T fpg SN &1 T3+ foar 1T UT?

(@) GRBIAT STANT
(sfh) Rerdt 3T
(&t Iepeacar sma
@ 18 SN

9. Ans- (d)

Shah Commission was constituted to investigate the
effect of Emergency of 1975.

10. Which of the following statements is/are incorrect?

1. Constitutional Amendment Bill can be introduced by
any minister or non-government member.

2. For this bill, neither prior permission of president is
necessary nor the provision of joint meeting.

Code:

(@) Only 1

(b) Only 2

(c) 1 and 2 Both

(d) Neither 1 nor 2

10. Frfafed & @ S 91/ FuF Tad 3787

1. T3y Ty fdas & BIs Hft 1=l a1 TR WRaRY
T U R Joba gl

2. 39 fada® & fore 1 df wyufa &1 gafgaf smawaes §
3R 71 8 Ig 96% BT UM |

DTS :

(@ ad 1

(@) Had 2

@& 1 3R 2 gl
@hAd1 RGN 2

10. Ans— (d)

Neither of the two statements regarding constitutional
amendment bill mentioned in the question is incorrect.

Uy ¥ Ifad dfgum gnes fAdae & &y & gl
HYN T J H1S +ff 7Tea TR 7

11. Which one of the following is not the function of
Local Government Bodies?

(a) Establishment of Peace
(b) Arrangements of Education
(c) Health and Hygiene

(d) Registration of Birth and Death

11. frafafad 7 @ o 91 g WeR! el o1 orf
TR 57
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(& e 3 Faw
@ WA R Bl
(S S 3R g P Yool
11. Ans- (a)

Establishment of Peace is not the function of Local
Government Bodies. It is the function of State
Government.

A ) RIGAT RIFY W R} (el &1 &1 781 81 I8
o THR BT HH B
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12. Consider the following statements and choose the
correct statements:

1. Maximum number of provisions in the Indian
Constitution have been taken from the Government of
India Act-1935.

2. Concurrent List has been adopted from the
Constitution of Australia.

Code:

(a) Only 1

(b) Only 2

(c) 1 and 2 Both
(d) Neither 1 nor 2

12. frafafed Syt R fER ST 3R I8 Hu=f &1
WW;

1. YR Afae™ | Sif¥edd Urae™ HRd TWBR
ffeET-1935 A W MU B

2. gl T Y e & Ty @ o m B
DI

(@) ad 1

(@) dad 2

@M 1 3R 2 gl

@hAdr 1RGN 2

12. Ans- (¢)

Both the statements mentioned in the question are
correct.

13. All India Depressed Class Association was
established by:

(a) Jyotiba Phule
(b) Periyar
(c) B.R. Ambedkar

(d) Dayananda Saraswati

13. 3fa YR gfera avf Tw 1 —uAT forad gRI b1
TS o

(@ e ot

@ IRER

() ot 3R, SrdsHY
S)ERIEERRSRI]
13. Ans— ()

All India Depressed Class Association was established
by B.R. Ambedkar in the year 1942. This association
was related with the security of rights of Dalits.

3T sfear fEURe o TUIRIERA &1 RITTHT &1.3(R.
3ISH A 9 1942 H fHar uT| U8 Y9 <fordl & IRy
DI GR&f I el Tl

14. Who among the following was the political teacher
of Subhash Chandra Bose?

(a) Cittaranjan Das
(b) C. Rajgopalachari
(c) Bal Gangadhar Tilak

(d) Firozshah Mehta

14, FAEfaRad & 9 SH JUIY 95 919 & IAeifad Riedm
?

@ Fereie g
CORIRIEUIEISIEIN]
C)IEINRINIGARRED
@ fpirIg Aga
14. Ans- (a)

Cittaranjan Das was the political teacher of Subhash
Chandra Bose.
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15. Who among the following was not in three Indian
members in 'Hunter Committee’ to investigate
Jallianwala Bagh Massacre?

(a) Sir Chimanlal Setalvad
(b) Sahebzada Sultan Ahmad
(c) Krishna Gopal Karve

(d) Jagat Naraian

15. SIfcrgTarel SN §ThIS I Sfid B arell §eX
FHHCT T i YR vew! § Fafafed & 9 o1F 78 ure
@ W Fmara dadars

(@) TTEaSIGT Yoo 3EHG

() por TiraTer

(S ST AR

15. Ans— (c)

In the October, 1919, government had setup a
commission under the chairmanship of Lord Hunter to
investigate the Jallianwala Bagh massacre. Three Indian
members were included in it :

1. Sir Chimanlal Sitalwad, 2. Sahebhada Sultan Ahmad,
3. Jagat Narain.

IR, 1919 H INBR A SACrATaTe SN gATHIS DI S
F T oS §ex 1 femeral & U HTANT &7 T8 foba
Y71 3TH o YR g e O

1. W e dadars, 2. YreHTel Yo $8Hg, 3.
ST ARTIT

@
STUDV, MA;TER

16. Ans— (a)

In ‘Tuhfat-ul-Hind’, the source of 18th century, the
huge vocabulary of Braj languages is given.

184 YdTsd] & Hd 'Jehd-3d-ga’ H SIS B
fermer Treqraeh & ¢ B |

16. In ‘Tuhfat-ul-Hind’, the source of 18th century, the
huge vocabulary of which of the following languages is
given?

(a) Braj

(b) Awadhi
(c) Rajasthani
(d) Gujarati

16. 1891 TdTec! & A 'qehd-3a-fea & Fufafea & §
forg vToT B} fammet TreaTaeh €t S 82

@ &l

17. By which party publication of “Young India” was
started on weekly basis which was published bi-weekly
from Mumbai?

(a) Swaraj Party
(b) Home rule Party
(c) Gadar Party

(d) Indian Independence League

17. {69 a1 gR1 4 3OS 67 YHTRH IR YR
R YR fopam T S g ¥ fg-wrenfess uestiRia g
i

(@) @RI aret
@ g et
(&) TR Tref
17. Ans— (b)

“Young India” was published bi-weekly from Mumbai.
From May 7, 1919, it was being published as weekly
from Ahmadabad by Jamnadas Dwarkadas and
Shyamlal Banker, the members of Home rule Party.

o1 ST Gas  fE-ardiies UebTiRid giar uTl 7 7,
1919 ¥, T8 STHATCN GRPIG 3R TATHAT SR,
AT U] & Uewll gRT UGG J ATEIgd U &
UHTIRId oo ST XaT ATl

18. Who among the following Governor Generals of
India is considered as the maker of Modern India?

(a) Lord Curzon
(b) Lord Dalhousie

(c) Lord Ripon
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(d) Lord Lytton

18. YR & fHfaRad TR SRal 8 ¥ fd snyfis
YR &1 FAATar 7T ST 82

Q) 1S B
CORISEREE
@ e Raa
@ @S fere
18. Ans— (b)

Lord Dalhousie is considered as the maker of Modern
India.

IS SIS B YIS HR BT AT A1 S 81
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20. During the reign of whom among the following
Governor General, ‘Policy of Masterly Inactivity’ has
been replaced by ‘Forward Policy'?

19. Which statement regarding Social and Religious
Reforms Movement of 19th Century is incorrect?

(a) This movement highly affected poor general class.

(b) Because of this movement modernisation of India
happened.

(c) Raja Rammohan Roy is considered as father of
these reforms and renaissance of India.

(d) All the statements are correct.

19. 199 IdTsd! & IS U4 UTiHE GUR ST &
i | BIH-91 HYT 3T S ?

(@) 39 3ffard 3 TRId I 97 &Y ey gHIfd
foa

(@) T ST F HROT URA BT MY gl |

() TS G I B HRA & 7 URT SR GAATROT
B SHD AT oIl g

@) Tt 5 e g1
19. Ans— (a)

Religious Reforms Movement of 19th Century has
affected Intellectual and Middle Class while poor
general class remained almost unaffected from these
movements.

19 et & iftfes QR sricieH A ifgs SR Ty ot
B gHIfad e & wafe e I arf 27 stigieHl 3
T SYHIAd &

@
STUDV, MA;TER

(a) Lord Lytton
(b) Lord Ripon
(c) Lord Minto
(d) Lord Dufferin

20. FEfifed ToR IR & § {5 AREea 1,
HREXA! UG fad BT Hifer BT BRTS Gifert gRI
wfafta fosar mn g7

@ are fores
@ are Ro=
@ 7S e
& S THRA

20. Ans— (a)

In 1876 AD, Lord Lytton was appointed as Viceroy of
India. He adopted the ‘Forward Policy’ in place of
‘Policy of Masterly Inactivity’ towards Afghanistan.

1876 3. & TS fofed &1 YR &1 IRRT gad fasan
7| 351 BN & Ul ARl sufaefadt o
Ffr & VM W RIS giferi TS |

21. Which one of the following was the last among the
merged territories under Lord Dalhousie’s Doctrine of
Lapse?

(a) Karauli

(b) Nagpur

(c) Jhansi

(d) Udaipur

21. TS SeeIel & AW & Rigid & dgd fawd by Mg
yexi H Fofefed & 3 o1 @ sifow ur
BEZK

(@ TR

(¥ st

@) IR

21. Ans— (a)
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e saeel & uTd Rigid & ded faay fey T o=
T ! Y & TART (1848), SIAGR 3R THATR (1849),
ISR (1852), A (1853), ANTYR (1854), BRI (1855)

22. Consider the following statements:

1. Surendra Nath Banerjee had established Indian
Association in 1876 AD at Calcutta.

2. In this organization, the middle class was given
primacy in place of the landlord.

Choose the correct statements:

(a) Only 1

(b) Only 2

() 1 and 2 both

(d) None of these

22. fafafed sy R far S

1. Q& 14§01 A 1876 §. & Bkl H gfegd
THIRIURME &1 RITGAT &1 i

2. 39 T3 § iR & RIM W Hegd 97 &1 YYTHar &
STt ot

e HUA! BT T B
(@ Had 1

(@) Pad 2

@M 1 3R 2 gl
SESEREIERE
22. Ans— (c)

Both the statements mentioned in the question are
correct.

Ty Ifcafad S By 8l B

23. Which of the following pairs is not correctly
matched?

(Leader) (Revolt)
(a) Motilal Tejawat — Chenchu revolt
(b) Rani Gaidinliu — Naga revolt

For Complete Test Series, Study Material, Notes, Ncert
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The correct order of territories merged under Lord
Dalhousie’s Doctrine of Lapse is: Satara (1848), Jaitpur
and Sambhalpur (1849), Udaipur (1852), Jhansi (1853),
Nagpur (1854), Karauli (1855).

Targeted Test Series for HCS 2023
2
(c) Majnu Shah - Saint rebellion

(d) Chirag Ali - Rampa rebellion

23. fFafafad & @ oF a1 Sie1 981 &1 F Ad 761 @
27

GGD) (fasre)
@ Aidfida aoad - 99 fage
CIREIRINFECE rm fage

() Fo 2TE - Id fage
(&) FRTT 37t - U1 fags
23. Ans— (d)

Alluri Sitaramaraju was the leader of Rampa Rebellion.
All others are correctly matched.

St SHARMHRTS] 7T fIgis & Adr A1 3= qaft gt
BEINCES
24. To suppress which one of the following movements

'Cunningham Circular' was issued by the British Govt.
in Assam?

(@) Non-cooperation movement
(b) Civil Disobedience Movement
(c) Ahmedabad Mill Movements

(d) Champaran Satyagraha

24. fAgfafed & O fog siciad &1 gam & fau fafexr
WEHR GRI 'S-oH THeR' STRY faa T 412 3| 7

(@) IEEINT SfigieH

& feTa sras sifeie
& SrgHerETe fird sfaiaH
() JURY TG

24. Ans— (b)

Civil Disobedience Movement was started by Mahatma
Gandhi in the year 1930. To stop the active
participation of students in this movement
'‘Cunningham Circular' was issued in Assam. In the
protest of which a movement was run by the students.

e 37as Sfigia HgTe el gRT 9y 1930 B &
T T 7| 39 Sticied | 1 @ Gy UTieR &1
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Jp & e g\ | 'HigH Tpar' SIRY foaT 17 7|
Wﬁﬁuﬁmm&mWW|

25. In Simla Conference organised by Viceroy Wavell in
the year 1945, Who among the followings headed the
Congress Delegation?

(a) Jawahar Lal Nehru

(b) Sardar Vallabh Bhai Patel

(c) Abul Kalam Azad

(d) Mahatma Gandhi

25. a9 1945 H AR aTddl gIRT SR et
Ferer |, Fafied ® 3 fodq siug ufaRiiHss o1
Aqcd far

OEEIBKISEERES

@) TSR T TS T

CIEECERIEEISIC

(S HeTe et

25. Ans— (c)

In Shimla Conference organised by Viceroy Lord Wavell
in the year 1945, Abul Kalam Azad headed the
Congress Deligation.

Y 1945 T IR s ardd gRT AT R
T H G HelTH HTelE 3 By UffRsd &1
A foa

26. From where, the concept of ‘Free Kitchen’ (Langar)
was adopted by the Sikhs?

(a) Hindu Temples

(b) Churches

(c) Sufi Dargahas

(d) Monasteries of Shankaracharya

26. Raa! 7 qUd WIS (@TR) BT SGYRN FHT 4
3UTS?

© feg #fex

() =

() gl "
(&) TRTE™ & 7S

26. Ans— (d)
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‘Free Kitchen' (Langar) was started during the period of
Guru Nanak. This concept has been taken from
Monasteries of Shankaracharya.

TS AFG & H1d ! fha (@R) &1 Ye3d g3
g SYRON Y & 73 § ot T2 3

27. Which of the following statements regarding "White
Mutiny’ is/are correct?

1. This was the incident of Clive's period.

2. British soldiers of Munger and Allahabad revolted
because of payment of less allowances.

Code:

(@) Only 1

(b) Only 2

(c) 1 and 2 both
(d) Neither 1 nor 2

27.4d fasie & Faiy ® Fufcied & @ oF /8 sy
e /87

1. 98 aa13d & H1d & geT i

2. 4R 3R 3areErG & fafex $fa! 3 &1 ol &
YA & SR fagls » fear|

DTS :

@ ad 1

(@) Had 2

@& 1 3R 2 gl
@hAad1eiRAE2
27. Ans— (c)

Both the statements regarding White Mutiny
mentioned in the question are correct.

Uy ¥ Ifafad 4d fagie & ey § 391 sy T8 B

28. A.0. Hume was the chairman of which Session of
Congress?

(a) Bombay Session 1885
(b) Bankipur Session 1912
(c) Madras Session 1887

(d) None of these
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28. .31, ggH
(@ SIS T 1885

(@) STBIgR T 1912

(& HETT T 1887
@h 3T A P TRT
28. Ans— (d)

Allan Octavian Hume was the retired British Officer of
Indian Civil Services. He had set up Indian National
Congress in the year 1885. He was the first General
Secretary of it. He was never the president of Congress.

T SideiaaH g9 YRdg Rifaa Ja1 & Jar-qa
fofesr sfieprt 31 381 avf 1885 H WRd TP B
P RITYT 1 oY | 4 5T Uga Ao 3| 98 HH s
& el el B
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Obra dam is situated over river Rihand. All other
statements are correct.

3R oty REg 78 R Ry 31 31 3t By I8t 81

29. Consider the following statements:
1. Hoogly is the tributary of river Damodar.

2. Damodar Valley Project is the first multi-purpose
project of India.

3. Obra dam is situated over this river.
Code:

(@) 1and 2

(b) 2 and 3

() 1and 3

(d) All of the above

29. fAafifed Hy R faR S

1. TN GHIGR T4l &1 g1 41 5

2. GHGR 91C URTSHT YRA &1 UUH 9830
ORAISAT B

3. SfIeRT 7Y 3T G & SW RT3
IS -

@ 132

@ 2 3R 3

CHREEIRE!

(S SWRIa T+t

29. Ans— (a)

For Complete Test Series, Study Material, Notes, Ncert

30. Which of the following Noble gases is not found in
the air?

(@) Helium
(b) Argon
(c) Radon
(d) Neon

30. el 7 § P-H@ Sy A9 ag & 781 ot ot
87

(@ eiferam
ORI
@ TS
@
30. Ans=(c)

Helium, Argon, Radon and Neon are noble gases. Out
of these Radon gas is not present in the air.

Siferam, smfa, YT ik i Fied 19 €1 s A=
9 ga1 ¥ Hivlg RI 71

31. Which of the following is/are the Ozone Depletion
substances?

1. Chlorofluoro Carbon
2. Halons

3. Carbon Tetra Chloride
Code:

(@) Tand 3

(b) 2 and 3

() 1and 2

(d) All of the above

31. Fofofed & 9§ eH-91/3 ofieiH e ard 5/8 ?
1. FARIRIRY BT

2. 30

3. HIa 22T FARTES
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31. Ans- (d)

All mentioned in the question are Ozone Depletion
Substances.

Uy # Ifcafad gt o= Radieor uerd g

32. The extension of which one of the following
mountains is at the borders of France and Switzerland?

(a) Apennine

(b) Mount Titlis
(c) Jura Mountain
(d) Andes

32. fFfafed # ¥ forg ue udd &1 faaR wig 3R
fRyeoRds 3 farsi w72

@ T

(@) wrde feefom
(¥ ST gdd
S

32. Ans— (c)

The extension of Jura Mountain is at the borders of
France and Switzerland.

SRT 7dd T IR 19 3R f¥eords o1 fim W B

33. Which of the following pairs is not correctly
matched?

(a) CLW — Chittaranjan
(b) DLW - Varanasi
(c) ICF - Chennai

(d) RWF — Kapoorthala

%3.ﬁa%®aﬁ®ﬁqmshawavﬁﬁaqﬁm
?

(@ Huerssey - fereior
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&l TS - A=

S RS — HYRYT

33. Ans— (d)

R.W.F. (Rail Wheel Factory) is situated at Yelehanka,
Bengaluru. All others are correctly matched.

IRSEYUH (X &Id Tach) Jage!, Ige o fRud 3
3= oft et gaferd 1

34. Which of the following pairs is not correctly
matched?

(a) Land of Morning Calm — Korea
(b) Queen of Adriatic Sea — Rome
(c) Mining Ghost Town — Coolgardie

(d) Maximum Salinity — Van Lake

34, fFafafea ® § o a1 oeT 98t &1 8 9d Ta) @ran
27

@ Fif=T ST B Yy - Hifar
@ Tfgafeds IR FF I - A9
() AT 9Re < - HerTet
@) SHfereFas AqurdT - 3 Sa
34. Ans- (b)

Venice city of Italy is known as ‘Queen of Adriatic Sea'.
All other pairs are correctly matched.

geal & Ay Tex B! Tfgared IR & I & AW Y
ST ST g 1 3 Tt g et gaferd g

35. Through which pass of the sahyadri mountain
range 'Mumbai-Nagpur-Kolkata' Rail route passes?

(a) Palaghat

(b) Bhorghat

(c) Thaalghat

(d) Shencottah Gap

35. YIS Udd S$Raal & oy &< o Gag-IRTgR-
HIAPBIAT I A ToRaT g ?

(@ UTeTETe
@ HREre
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‘Mumbai-Nagpur-Kolkata' Rail route passes through
Thaalghat Pass of the Sahyadri mountain range.

A8 -TNTR-PIAdIAr X 91 sl udd gaadl &
YTTTHTE &% 9 B ol g

36. Which of the following statements regarding
‘longitude’ is/are correct?

1. Their length is equal.

2. The local time of all the places situated at a
longitude is same.

Code:

(a) Only 1

(b) Only 2

() 1 and 2 Both

(d) Neither 1 nor 2

36. MR P oy & Fafafad 7 T &F 91/ Sy Tel
B/

1. ST THETS SRTER B g

2. TR R fRug g+t R &1 W 999 99 811
gl

DIS

(@ Had 1

(@) Pad 2

@M 1 3R 2 gl
@hFdr1aRTE2
36. Ans— (c)

Both the statements regarding ‘Longitude’ mentioned
in the question are correct.

Uy # Ifafad Siar & Gay H Sl Hu= Igl g

37. Which one of the following pairs is not correctly
matched?

(Rock): (Metamorphic rock)

(a) Granite: Niece
For Complete Test Series, Study Material, Notes, Ncert
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(b) Grabo: Serpentinite
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(c) Besalt: Schist

(d) Sandstone: Slate

37. Fgfafea # 4 o9 o g wet Al el 82
RTeP) : (PTAIRT IgT)

@ U1

@ I wiffee

@ e : Rre

(S) T3 UR: Wi

37. Ans— (d)

Quartzite is formed by the metamorphosis of
Sandstone, not slate.

T TRR & TR J STESET BT (707 Far g,
wic Y el

38. In the formation of Peninsular India the correct
order of ancient to new rocks is :

(a) Kudappa-Dharwad-Gondwana-Vindhya
(b) Dharwad-Kudappa-Gondwana-Vindhya
(c) Vindhya-Gondwana-Dharwad-Kudappa

(d) Dharwad-Kudappa-Vindhya-Gondwana

38.9%&3‘1%%%%%@?@%%%@@
HhHT:

@ HSHI-YRATS-TSaHI-[d&

@) YRATS-HeWI-TMeaHI-fder
) de-MeaH-yRars-H e
@) YRATS-PSWI-fder-Tisar
38. Ans— (d)

In the formation of Peninsular India, the correct order
of ancient to new rocks is: Dharwad-Kudappa-Vindhya-
Gondwana.

Ui YRd & o & urdia @ e Fg = &1 98t
%Y § : YRATS-PSWI-fdeg-msam|

39. Which of the following cities is not a capital of any
country?

(a) Nicosia
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(b) Port Louis

(c) Bern

(d) Christchurch

39, Frafafad o @ ®H-91 e [t off <=1 b1 et
Tl 87

@ fepiyan

CURICESER

@ s

CHEIRSEE]

39. Ans— (d)

Christchurch is a city of New Zealand. Capital of New
Zealand is Wellington.

Cyprus — Nicosia
Mauritius — Port Louis

Switzerland — Bern

BT Guitals HT TH VR g | ol B ATer=it
CIRUEE

rEuy - ey
TRIRN - U 39
RacoRds - 5

www.studymasterofficial.com

69\
STUDY MASTER:

(@) Pad 2

@& 1 3R 2 gl
SIESEREIERE
40. Ans- (b)

The height of Western Ghats decreases from north to
south, which is a continuous series. The highest peak of
Eastern Ghats is Jindhagada (1690 m.) Second highest
peak is Arma Yoma (1680 m.).

uf3f are 3 SHars IW Y S0 FY 3R gedh ot g, S
TP Jad §aar 81 gdf °1e &1 T St 7@l Rigmer
(1690?2?)%2;&1‘114&@%%@@?1(1680
) Bl

40. Choose the correct statements from the following:

1. The height of Western Ghats increases from north to
south.

2. The highest peak of Eastern Ghats is Jindhagada.
Code:

(@) Only 1

(b) Only 2

(c) 1 and 2 both

(d) None of these

40. frafafed 9 3 &t Ul 1 78 B

1. uf3ft Tre & Farg IW I e o 3R Iedt 8l
2. qdf ure @B Tad St A Rierer 1

DIS :

41. Which of the following seas is situated in the east
most?

(a) Aral Sea

(b) Caspian Sea

(c) Mediterranean Sea

(d) Black Sea

41, Forofeife # Q S-a o oo gd # R 2
(@) R IR

() BT AR

&M yFe 9rR

(Sh) PTell AR

41. Ans— (a)

Main lake of Central Asia is Aral Sea. It touches the
boundaries of Kazakhstan and Uzbekistan. In the
options mentioned in the question, the correct order
of seas from West to East is Mediterranean Sea, Black
Sea, Caspian Sea, Aral Sea.

A1 ORI P 7T 3 3R IR B | T8 Bollib
3R IAfHd Bt ref &1 gar g1 uy & few Mg
fament & uf¥m ¥ gd &t 3R Tga! &1 98 HH YHH
UNR, BTl UR, HIRGT IR, 3R IR B

42. Consider the following statements and choose the
correct answer with the help of the codes given below:

For Complete Test Series, Study Material, Notes, Ncert Gist Books & Question Bank _




HCS 2023 TEST - 1, A complete & Targeted Test Series for HCS 2023

@
STU\?Y MASTER:-

Reason (R): All longitude lines divide earth in equal
parts.

Code:

(a) Both (A) and (R) are correct, (R) is the correct
explanation of (A).

(b) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

(€) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

42. frofafed st W faar i ok 9 fig T ge
P TG ¥ gl SR AT

HYUF (A) : G4 AR @3 B 98d g7 bed B

PR (R) : GH SR X@TE gedt BT FHE HIT |
fawifora et &1

CarCH
%mﬁ@&ﬁ?(mﬂﬁ%‘,(M(@mwmm
|

@ 1 (@) SIR (31R) TEY § A (31R) () BT Tgt
TR ] &

& @ el ? AP (@R) Ted B
@ (@ Tod § AP (3R) TE B
42. Ans— (a)

Assertion (A) and Reason (R) both are correct but
Reason (R) is the correct explanation of Assertion (A).

FHYF (A) 3R HRUT (R) I Te1 § AfBT BRI (R), HU
(A) ! &) RS B |

www.studymasterofficial.com

Statement (A): All longitude lines are called Great
Circles.

69\
STUDY MASTER:

43. Ans— (a)

Haldia situated nearly 90 km. apart from Kolkata is an
specific example of external port.

efeaan AL 90 e, DIcTebId & 3ralTaT e §ee
o1 T fARIY IR B

43. Which of the following ports of India is an example
of external port?

(a) Haldia

(b) Vishakhapatanam
() Chennai

(d) Kochi

43. YRd 1 Fafaf@d # § & 91 988 91831 a8
BT ITER01 &2

44. Match List-I with List-1l and choose the correct
answer with the help of given codes:

List-1 List-11
(Biosphere Reserve)  (Situated at)
A) Nokrek 1. Odisha
B) Cold Desert 2. Meghalaya
C) Dihang 3. Arunachal Pradesh
D) Simlipal 4. Himachal Pradesh
Code:

ABCD
(@2431
(b)2341
(4321
(d)2314

44, -1 DY G- 11 ¥ AR BIRTT 3R feT Tu e Bt
TRl ¥ gl IR AT

Tail-I -1l
@B Rod) (@8l )
A) BB 1. 3ffgam
B) =ftd HHwye 2. HgTe
o fagmm 3. 3RO UG
D) Refiara 4. feomaa uew
DI
TSt S
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2
@2431
@ 2341
@h 4321
€h2314
44. Ans— (a)
The correct match is:

(Biosphere Reserve) (Situated at)
Nokrek — Meghalaya

Cold Desert — Himachal Pradesh
Dihang — Arunachal Pradesh
Simlipal — Odisha

e A &

@R o) @6t i)
D - AU

fid ARy - fedTee udw
fagiT - Sreumaa Uewr

Ryweiiarer - IS

www.studymasterofficial.com
@) 1 3

@ 2 3R 3
18R 2
&) %ad 3

45. Ans— (c)

Gv\
STUDY MASTER:

South Sudan and Swaziland are landlocked countries
of Africa.

e G IR WIONTS SNBIHT F VTS 2 8

45. Consider the following:
1. South Sudan

2. Swaziland

3. Gabon

Which of the above is/are landlocked countries of
Africa?

(@) 1and 3

(b) 2 and 3

() 1and 2

(d) Only 3

45. FEfifEd R f@ar S

1. e gs ™=

2. Wl

3. 7§

ST B § HH-T1/ BIHT H1/& 32 8/37
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46. Which one of the following is not correctly
matched?

(a) Zonda - Argentina

(b) Mystral — Gulf of Lyons

(c) Brick Fielder — Australia

(d) Norwester — Venezuella

46, Fafifed & @ @19 91 gafed =& 82
(@ forege - ferdier 6t et

(o) forep iR - aifgferan

(SN R - IAguen

46. Ans— (d)

The correct match is:

Zonda — Argentina

Mystral — Gulf of Lyons

Brick Fielder — Australia
Norwester — North New Zealand
SEERES

foreger - ferdt 1 et

fore wesR - sifegferar

47. Which one of the following pairs is not correctly
matched?

(Project) (River)
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(a) Chamera — Rabi
(b) Salal - Chinab
(c) Pong — Sutlej
(d) Uri— Jhelam
47. Frafafad & @ SH-a1 gm It gaferd T2 87
CIREIEE! GE)
WEENE &t
CHEEISE ERIE]
(&M giT- RERE]
& 3- ERL]
47. Ans— (c)

Pong Project is situated over river Vyas. This is situated
in Himachal Pradesh. All others are correctly matched.

gl ik g 9 W RRyd 31 98 arad v o
@ g1 o it et gaferd €1

www.studymasterofficial.com

48. Temperate grassland found in Eurasia region is
called-

(a) Prairies
(b) Steppi
(c) Weld

(d) Downs
48. TR &= § 91T S ardt AT g1 & e B
P 8-

@ JRIS
(e it
@ aws
@) s
48. Ans— (b)

Steppes is a temperate grassland found in the Eurasia
region.

RIS T 2o urg &1 Ae § S R &7 F urn
S Bl

69\
STUDY MASTER:

1. Art. 312 of the Constitution empowers the
Parliament to constitute a new All India Service on the
basis of a resolution of the Rajya Sabha.

2. Chairman and members of State Public Service
Commission can be removed by President only.

Code:

(@) Only 1

(b) Only 2

(c) 1 and 2 both

(d) Neither 1, nor 2

49. fAgfefed Hy W faaR Sifow:

1. TfAe™ PT 3TRT 312 TG B! AT IHT & TdH
Thed P YR R U 718 ARAA HRT a1 Med B3
BT SHUSHR a1 2

2. I i Al SHTANT & Sieel 3R Fad! Bl Agaf
GRT 8 8T ol gl B

Eﬁ‘s’:

@ bad 1

(@) bad 2

@M 1 3R 2 gl
@hAdr 1,982
49. Ans— (c)

Like any other union, the public services of the centre
and the states are divided. Both the statements
mentioned in the question regarding it are correct.

forddt ot 3= WY Y Re, F% SR Il B AidId
Jard fqurford €1 3o Tefda uy & Ifcafad gl ouA
BEE]

49. Consider the following statements:

50. Consider the following statements and choose the
correct answer with the help of the codes given below:

Statement (A): An integrated judicial system has been
established by the constitution.

Reason (R): This system has been adopted to eliminate
mutual conflict and confusion between centre and the
states.

Code:
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(a) Both (A) and (R) are correct, (R) is the correct
explanation of (A).

(b) Both (A) and (R) are correct but (R) is not the
correct explanation of (A).

(€) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

50. Fafifed Hy R AR Fifv oik = R e
P TEHIAT ¥ gl SR AT

HY (Q): AU GRT T Thiepd ~1fdeh Jomelt R1fd
CIRIER]

PR (R) : Fg 3R AT & o MU TS 3R YH B
WH B & 11T 39 YOIl B - T B

DS

g)aﬁf@e-ﬁ?(mﬂﬁ%‘,(M(@mme
|

@ I (@) 3R (3R) & & Afeb (3MR) (@) FT el
YA TE B

@& @ el ? AfPT (3R) Ted B
@h (@ Tad & AP (3R) TE B
50. Ans- (a)

Assertion (A) and Reason (R) both are correct and
Reason (R) is the correct explanation of the Assertion
(A).

HYF (A) 3R BRUT (R) THI T § 3R BRI (R), HY
(A) B! T8 AR &

1. 99 3R I & o9 Taiy
2. qA=ag & e yomeft

3. faara! & o &1 yoreh
DTS :

@ 19R 2

@ 2 9k 3

@& 1 3R 3

(S SWRIad Tt

51. Ans— (d)

All mentioned in the question are included in the
federal political system.

Uy & Ifeurad gyt S eifae gormen § 2t g1

51. Which one of the following is/are included in the
Federal Political System?

1. Relation between Union and States
2. System for coordination

3. System for resolving disputes
Code:

(@ 1and 2

(b) 2 and 3

() 1and 3

(d) All of the above

52. A resolution passed by the Rajya Sabha under
Article 249 will remain in force for the period of:

(a) Six Months
(b) One Year
(c) Three Years
(d) Six Years

52. 3G 249 & A IS JUT gRT TR Taved
foram Img a gurdl |/

(@ B8 HEH
@ T I
GCHNEEIG]

SIERRIS
52. Ans— (b)

Article 249 of the Indian Constitution is related with
the legislative power of the Parliament with respect to
the subjects of State List. A resolution passed by the
Rajya Sabha under Article 249 will remain in force for
one year.

YR AU BT 3Twsg 249 o4 A & fawdl & dafy
A T B faurh e T Sl B 1 srwe 249 & dgd
TS0 GUT GRT IR Ueh URaTd T 9 & forg an g |
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1. Its objective is to prevent any person from
committing crime.

2. Under it, govt. can arrest any person under custody
only for four months,

Code:

(@) Only 1

(b) Only 2

() 1 and 2 both
(d) Neither 1 nor 2

53, "FaR® fear & dey # Pufafea & ¥ e a2
YT IS B/87

1. 39P1 I fpat +ff afed & STRTY 3 A A B

2.39% ded, WHR| fordt 1t ufdd o) Had IR 7eH
P fevrgd & IREIR R Tl @,

DS :

(@ Had 1

(@) dad 2

@& 1 3R 2 g
@hAdr 1RGN 2
53. Ans-(a)

— Article 22, Part (4) to (7) are regarding Preventive
Detention. Under Preventive Detention Law any person
is arrested before committing crime. The objective of it
is to prevent any person from committing crime.

— Under it, government can detain any person in
custody only for three months.

- 3G 22, YT (4) ¥ (7) FaRS Ry & Tafe 7 g
YaR® FR1Y ST & dgd fbet Hi safad o sty
P ¥ Ugd IRWIR foran Srar 81 59T S22 foad) oft
AR B AIRTY B J Ab1 2|

- 39% d8d PR e off ufad &1 dad oiF g8 a6
B fod & T gt 8

54. Which of the following statements is/are correct?

1. Rajya Sabha can amend Money Bill but can't reject it.

For Complete Test Series, Study Material, Notes, Ncert
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53. Which of the following statements regarding
“Preventive Detention” is/are correct?

@
STUDY MASTER:

2. Voting on Demand of Grants takes place in both of
the houses.

Code:

(@) Only 1

(b) Only 2

(c) 1 and 2 both

(d) Neither 1 nor 2
54. FafafEd & @ @ /A Hu 98 /87

1. I8 JHT 47 FATTp & T=Ne B bl g Afpd I
PR el HR ol gl

2. G et & e &1 Hi W AdeH gt B
HIS -

(@ bad 1

@) Had 2

@ 1 3R 2 Sl

@hAd1 ARG 2

54. Ans— (d)

Rajya Sabha returns Money Bill with its
recommendations to the Lok Sabha within 14 days but
Lok Sabha is free to accept or reject any
recommendation. If Rajya Sabha does not returns the
money bill to Lok Sabha within 14 days then it will be
considered by both the houses in the same form. So
Rajya Sabha has no powers to amend or reject money
bill. According to article 113(2), demand of grants will
be presented in Lok Sabha and it has rights to vote on
that, not to Rajya Sabha.

TG 14 & & iR et Rreiven & g Aiegyn
B 4 faRaes derd § dfer diaHr fel +f Rywerivar
D) DR T7 3RAIBR A F T a1 g1 IS ITeagqHT
14 Gl & ViR oA fadas & Ayt &1 a9 =gt
A § dl QI FaA gRT TP &l ©U # 39 W @R fovar
T | ST TSI HT o U o e | g=neE a1
SRABR PR P DI Al TSt B 3TDe 1132) B
UR SFEH B AR Al THT & TR B St 3R
38 I W Hd o PT 3SR &, 5T JHT P18l

55. In India Patent Act was firstly passed in the year:
(a) 1970

(b) 1972
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(c) 1982
(d) 1980

55. HRd # Ude ffam Iod ugd i av § uiikd
foam T

(@ 1970
@M 1972
() 1982
(S 1980
55. Ans— (a)

Patent is a legal right, after getting this, the person or
the organisation which invent or make the product
then it gets sole rights for manufacturing the product.

9T UH HTL PR §, T8 U A & ae, S afda
T ARYT IATE BT ASHR T AT St 8, I8 IS
F AT 1 UH AT PR fird ST B

www.studymasterofficial.com

56. Match List-1 with List-Il and choose the correct
answer with the help of given codes:

List- List-Il
(Subject) (List)
(a) Population Control & Family Planning 1. Centre List
(b) Space 2. State List
(c) Public Health 3. Concurrent
(d) Census 4. Residuary
Code:

ABCD
(@3421
(by4312
(©2143
(d)y1432

56. Jall-1 Y G-Il & AR PIRT 3R i3y U e 3
HgrIdl ¥ ¥gl SR AT

Tt -1l
() GE)
(@) SR T SR ufkaR e 1. $g gt
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Tt St
@3421
@h4312
@h2143
@©h1432
56. Ans— (a)
The correct match is:
(Subject) (List)
Population Control & Family Planning — Concurrent List
Space — Residuary List
Public Health — State List
Census — Centre List
SERERES
(farw) GEl)
ST 0T Td ufkaR e - aadt gt
3iRas - Sarre I
eI WY - I T
SO - S et

57. Which of the following pairs is/are correctly
matched?

1. Article 40: Constitution of Village Panchayats
2. Article 50: Isolation of Judiciary from executive

3. Article 45: Pre-childhood care and the education of
children below 6 years

Code:

(@) 1and 2
(b) 2 and 3
() 1and 3

(d) All of the above
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1. 3G 40: UM GARIA! T TS
2. 3Tye 50: HRIUIIST ¥ U] HT ST

3. 3THE 45: 6 TY U HH A & gad! &1 gd-gau-
@ 3R Rre

CacE

@ 1 3R 2

@ 2 3R 3

& 1 3R 3
(S SWRIad Tt
57. Ans— (d)

All the pairs mentioned in the question are correctly
matched.

gy ¥ Ifufad g oie o€t qafea €1

58. Which of the following features of Indian
constitution have been taken from the British
Constitution?

1. The rule of law.

2. Process of making laws.
3. Freedom to Judiciary

4. Parliamentary System.
Code:

(@ 1and 2

(b)2,3and 4

() 1and 4

(d)1,2and 4

58. HRdTg Tfae™ &1 Fgfiied & ¥ eF-i fagivar
fafew gy A R 22

1. BT BT I
2. BT & &1 ufesan|
3. gUIfeichT BT T
4. FHEY Yot |

DIS

@ 1 3R 2
For Complete Test Series, Study Material, Notes, Ncert
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@) 2, 3 3R 4
&) 1 3R 4
@h 1,29k 4
58. Ans— (d)

The freedom of judiciary has been taken from the
constitution of America.

TIUTIIhT & Taa=dT 3HRT & Afgyr™ 3 < 18 B

59. Which one of the following can authorise the
parliament for the creation of new All India Services for
State and Centre both?

(a) Rajya Sabha
(b) Lok Sabha
(c) President

(d) Supreme Court

59. Fofifad & § H Isg ok $g gFl & R
ST R Tarsit & Fafo & faw ¥ug &1 sifigd
HR T 82

(@) ISTHHT
(sih) BT
(¥ rgufa
@ g 1
59. Ans- (a)

Under article 312, Rajya Sabha can authorise
Parliament for the creation of new All India Service for
both Centre and State.

3TT 312 & d6d, IoTTHT Hg 3R IsT a1 & g
7 oifrer R e 3 RO & Rig ST Y S
X el B

60. Which of the following statements regarding Vice
President is not correct?

(a) He should have the eligibility for being elected as
the member of Rajya Sabha.

(b) He can be removed from the post through formal
impeachment.

(c) He is elected by members of Rajya Sabha and Lok
Sabha.
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(d) All the statements are correct.
60. ITRTYURI & Jae H FAfefad & § HI4 A1 B Hg!
T 87

(@ ITDb U T JHT & Y& & T H g oH B
g g 91T

@ I v HRIENT gRT U ¥ gl S Habd § |
@ T8 ISTYT 3R AFIUT & TR §RT AT A g |
@h Tt T wE B

60. Ans— (b)

To remove president from his post there is no
requirement for formal impeachment. He can be
removed by the passing the pledge by absolute
majority and the consent of Lok Sabha is necessary.

AT I I UG ¥ §e & Y So=ries AgIian

DI Pl TR Tl 81 ¥ gulf sgqd I fasm uiikd

?mww%ﬁ@wwﬁmw
|

61. In which of the following situations there is a
provision of Joint Meeting in Parliament?

(a) If the bill is rejected by the other house.

(b) If the other house is disagreed with the
amendments made in the bill.

(c) If more than six months period has been lapsed
after the passing of a bill by the other house.

(d) In all of the above situations there is a provision of
joint meeting.

61. Fufafad & ¥ foy fRufy § Y9 & 9gad do@ &
UGy g ?
@ T e GXR e R SRAHR HR e T gl

%@)Hﬁmwﬁmﬁmmwwﬁm
|

@ afe IR Fe gR1 f39ue uiid H9 & 91¢ &8
TR 9 ofie Y 3o a8 S B

@ SWYed Foit RufT & Tgad So &1 wray = B
61. Ans— (d)

In all the circumstances mentioned in the question,
there is a provision for the joint meeting.

62. Which one of the following is not a permanent
committee of the parliament?

(a) Advisory Committee of Ministry of Finance

(b) Public Accounts Committee

(c) Estimate Committee

(d) Committee on Public Undertakings

62. Frafofed & @ o1 ug & Rt wfifa 76 32
(© fa< HATeRT BT HaAgDR HHfe

@ e T TfAfa

GIEICENE RG]

@) Frdee IuspHl W wiAfd

62. Ans— (a)

Public Accounts Committee, Estimate Committee and
Committee on Public Undertakings are permanent
Financial Committees of the Parliament.

o oaT JiAfd, Udepa Ififa 3R grasi-e IUpH
giafa ae o) vl fady afafaat g1

63. Which one of the following statements regarding
the Ordinance issued by President is incorrect?

(a) This is issued during the non-operation of session
of both or either one of houses.

(b) The impact of this is like the act made by the
parliament.

(c) The approval of this should be done within the six
weeks of the start of parliament session.

(d) None of these.

63. APUT GRT SR ST & Yoy H Faferiad & @
DI T HYF TTAd 82

@ T a1 a1 foreft U T & T & A & SR
EINERICRIRIGIE]

@)?mqmwamwm&ﬁrﬁm$w
g gl

() THHT SgHIG TG T URY 814 & B8 W8 &b
HiR fobar ST =g
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63. Ans— (d)

All the statements given in the question are correct.

gy H fou ot w T B

www.studymasterofficial.com

64. By which of the following constitutional
amendments the elected members of Delhi and
Puducherry legislative assemblies have been included
in the electoral board?

(@) 69th Constitutional Amendment
(b) 70th Constitutional Amendment
(c) 83rd Constitutional Amendment

(d) 87th Constitutional Amendment

64. frfafad & @ frg ddenfie e gRT faweh ok
g faurayistt & Maffa gewil @f fafas dsa #
b foar T 82

(@) 6997 HfaYT TMeT

(&) 70d7 Hfayr g=my=

(& 83af Hfdeyr d=Me

(S 8741 Tfau™ T

64. Ans— (b)

By 70th Constitutional Amendment the elected
members of Delhi and Puducherry legislative

assemblies have been included in the electoral board
of president.

703 TfaUT e gRT feeeh ofiR ggart faem auraf
& Maffad Jewdl &1 Agufa & Fafe dea & e
far g

@
STUDV, MA;TER

(c)2,3and 4
(d) All of the above

65. P TR W e WHT e &1 favg fFRafiafad
7 forg Hamerg T Gefdd g2

1. 8 fasp Ty HaATera
2. fomd wATeIg

3. &1 HATC

4. T8 HATT

DTS :

@ ad 1

@h 1,334

@M 2,334

(S SWRIad Tt

65. Ans— (b)

Ministry of Urban Development, Ministry of Defence
(Cantonment Board) and Ministry of Home Affairs
(Federal Territory) are related with Urban Local
Governance.

Tt T TETe, X8 T (@1a 919) 9 T8
TR (M &) RIet R TR & Wefid g

65. At the central level, Urban Local Governance
subject is related to which of the following ministries?

1. Ministry of Urban Development
2. Ministry of Finance

3. Ministry of Defence

4. Ministry of Home Affairs

Code:

(a) Only 1

(b) 1,3 and 4
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66. Which of the following is/are the provisions in
which special majority and approval of half the states
are mandatory for amendment?

(a) Representation of States in the Parliament
(b) Supreme Court and High courts

(c) President’ Election

(d) All of the above

66. Fafafad § ¥ S19-91/3 urau g/8 s I
& fore fadly agHa 3R 3nd Ireal Bt Wipfa aifarf 22

@ g ¥ It &1 vfaffia

(@ Fafe ey R 3 =aTed
(&) 1gafa 1 g

@) IWe It

66. Ans— (d)
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)
On the basis of the provisions described under Article
368, the provisions of the Constitution relating to the
federal structure can be amended by a special majority
of the Parliament. The approval of the legislatures of
half the states is also mandatory for these provisions. It
is mandatory for all the provisions mentioned in the
question.

3T 368 & dgd afdid AU & YR TR TE gl
 Geiferd Sy & uray™l o1 ¥9e & faRiy sgaa 4

TN forar o Terdn 81 37 wrasmt & forg sne vt

P faurrguret B wWiefa ot sifvard 71 uy & Sfcafea
Tt araert ¥ fog g8 sfard g1

www.studymasterofficial.com

(c) 52nd Constitutional Amendment

67. In which one of the following cases, the Parliament
emphasized on maintaining harmony and balance
between the Fundamental Rights and the Directive
Principles of Policy?

(a) Golaknath Case
(b) Minerva Mills Case
(c) S.R. Bommai Case

(d) Raghunath Rao Case

67. Frafafad & 3 frg oma 8, e 3 Aifds sfeRri
IR Hfa Fdere Rigidl & a9 Ie $iR Fga a1
TG W SR fean

@ MBI Y

@) firaf fires
T THIR. IS Y
(S) TYATY (G HY
67. Ans— (b)

In the Minerva Mills case, the Parliament emphasized
on maintaining harmony and balance between the
Fundamental Rights and the Directive Principles of
Policy.

foraf foreg A &, 99 A Aifere SfeRT SR ifa
ez Rigidl & i Ire 3R Igad 99T W R
wq faan

@
STUDY MASTER:

(d) 61st Constitutional Amendment

68. FAufaad & ¥ frw Taufe TN grT dfaur
TR g W yuly Wl sifard R <
32

(@ 4297 Hfau™ T
(&) 4441 Sfaer d=me=
() 52ai T e
@M 61af "idyr Fne
68. Ans— (b)

President's assent to the 'Constitution Amendment Bill'
has been made mandatory by the 44th Constitutional
Amendment 1978.

449 FfIYT TR 1978 GRT Hiau™ H=MeH [Adad R
Iyt B Wipha sifard s & % 5

68. By which one of the following Constitutional
Amendments, President's assent to the 'Constitution
Amendment Bill' has been made mandatory?

(a) 42nd Constitutional Amendment

(b) 44th Constitutional Amendment

For Complete Test Series, Study Material, Notes, Ncert

69. The boundaries of Eurasian Country Turkey does
not touch which one of the following seas ?

(a) Black Sea
(b) Caspian Sea
(c) Murmara Sea

(d) Mediterranean Sea

69. R 21 g ! 1 Famd FHafeiead & @ forg Iz
1 -Tel gt 87

(@) PTe TR
@ B AR
(¥ TRRT AR

@ YA IR

69. Ans— (b)

The boundaries of Eurasian Country Turkey do not
touch Caspian Sea.

TG S gB B AT IRV IR &1 T8 gl g

70. Consider the following statements and choose the
correct answer with the help of the codes given below:

Assertion (A): In general, igneous rocks are found most
on Earth.
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Reason (R): Two-third of the earth’s crust is made up of
these rocks.

Code:

(a) Both (A) and (R) are correct, (R) is the correct
explanation of (A)

(b) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(o) (A) is correct but (R) is incorrect

(d) (A) is incorrect but (R) is correct.

70. FAEfefad Hy= R faeR P &R = ey Tu e
P TEHIAT ¥ gl SR AT

AYHYT (A) : THIIG: AT g gdt WR Faifere urg
Eicikd

BRUI (R) : Qi B YUt &1 31-fagrs W 3t a1 4
eIk

DS

@ I (@) 3R (31R) G &, (3R) (@) PT TeT WHH 3
@ T (@) SR (3R) T & A (3R) () T wa!
W0 TET &

@ (@ TE & Afp (3R) TTeid &

@ (@ T § AP (3R) TE B

70. Ans— (a)

Assertion (A) and Reason (R) both mentioned in the
question are correct and Reason (R) is the correct
explanation of Assertion (A).

Uy § Ifr@d Sifiisud (A) iR HRU (R) GF1 I8 &
3R BRUT (R) 3MfHBYT (A) DI & T B

www.studymasterofficial.com
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(d) All of the above

4. Je fageifan

g}%ﬁ@ﬁ?-mﬂmm&@m%@ﬂﬁm

@ 1,234
@2 33k 4
@M 1,2 3R 3
(S SWRIad Tt
71. Ans— (a)

Negeva desert is situated in South Israel while Gibson,
Great Sandy, Great Victoria, Simpson etc. deserts are
situated in Australian continent.

Frar IR 2 feror geREd H Ryd 8§ Sefe fsge, e
TeTgu § Ryd B

71. Consider the following:
1. Gibson

2. Great Sandy

3. Negeva

4. Great Victoria

Which of the above deserts is/are situated in Australian
Continent?

(@ 1,2and 4

(b) 2,3 and 4

72. Which of the following plateaus is situated between
Iravady and Salween rivers?

(a) Plateau of Huawei
(b) Shan Plateau
(c) Kol Dam Plateau

(d) Plateau of Malaya

72. Fofafad & ¥ &9 91 UoR &<l 3R gradi= afeat
yFdaRae

(©) §SHTdS BT USR
@l MM ISR

) P qiYy TSR
(d) AT HT USR

72. Ans— (b)
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Shan Plateau is situated between Iravady and Salween
rivers in Myanmar. It is enriched with the mineral
resources.

U U6R R H 319 3R Iradiq Afeal & &9 fRud
21 U5 @i gareE @ 99g B
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73. Which of the following is not an objective of World
Trade Organisation?

(a) Increasing social competitiveness among member
countries.

(b) Determining and enforcing rules for international
trade.

(c) Resolving trade disputes.

(d) Accepting the concept of sustainable development.

73. FafaRad & 9 319 91 fay TR 16 $1 35
T R?
(@ Faw XM & i< gl Ao wfereasf|

(@ SRS IR & forg femt &1 fufRor 3R ang
B

(& TMUR f3arel o) et AT
& Idd [THTg BT STURIN B WIHR HAT

73. Ans— (a)

World Trade Organisation was established in the year
1995. Increasing social competitiveness among
member countries is not its objective.

% SITIR T Bt RATOAT I 1995 H g3 2| o =l
T I Ufaeayl ST 395! S22 T8l o

@
STUDV, MA;TER

74. UG AP VAR STGIR & HeiY H AR Hy=i
ERACEIRERS

1. 3BT RITYAT 1992 H a1 IAfd o1 Rywifven =
CIRIERIN

2. ST ey foeeh 7 81

SRIFd Bl & T HIH-1/3 TTed 8/87
@ ad 1

(@) bad 2

@& 1 3R 2 gl

@hAdr 1 siRAE2

74. Ans— (b)

The headquarters of Indian National Share Market is in
Mumbai.

YR IET TR STOR HT G&Iad Gofs 1 & |

74. Consider the following statements regarding Indian
National Share Market:

1. It was established in 1992 on the recommendations
of Pherwani Committee.

2. Its headquarters is in Delhi.

Which of the above statements is/are incorrect?
(a) Only 1

(b) Only 2

() 1 and 2 both

(d) Neither 1 nor 2

75. Which of the following is also called ‘Stock Market’
?

(@) Primary Industrial Security Market

(b) Secondary Industrial Security Market

(c) Vikas Vitta Sansthan

(d) None of these.

75. fgfafed 7 € f5d R IR N Fe1 e e 2
@ U SMENfe JRam TR

@) et Siiefiie JRam SoR

(&) faepTd fad dwiH

SEFESEI T

75. Ans— (b)

Secondary Industrial Security Market is also called as
‘Stock Market'.

facfia® ieNfire QRem IR &1 e Adbe i HaT
EIcI|

76. Choose the correct statements regarding Monetary
Policy:

1. Low and stable inflation, financial stability and
inclusive growth is its goal.
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2. Reserve Bank of India declares monetary policy six
times in every financial year.

Code:

(@) Only 1

(b) Only 2

() 1 and 2 both

(d) Neither 1 nor 2

76. Hifse At & Ao H el B BT 9T B

1. g iR RRR garewifa, foia fRuRar ok gwmash
T s d&d B

2. YRd1g od s Tde fa<ia oy § o8 IR Afgs Hifa
P IO BT g

DIS

(@ ad 1

(@) dad 2

@& 1 3R 2 g
@hadeiRAE2
76. Ans— (c)

Both the statements regarding Monetary Policy,
mentioned in the question are correct.

Uy ¥ Ifeuad Aifge Hifd & day § S Sy I8t &

www.studymasterofficial.com
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IR Gt fob g derasifg dierr @1 fagivang 87
@ AR teradif A
CHRIECIRCENEDITE ]
CHELRECKRDIEE

@) Frcrdl Gaaa drerr

77. Ans— (b)

All mentioned in the question are related with Fifth
Five Year Plan.

gy & Ifearad gt uiadt daasfy dem @ Seia B

77. Consider the following:

1. Minimum Needs Programme

2. Establishment of Regional Rural Banks
3. Food for Work Programme

All of the above are the features of which Five Year
Plan?

(a) Fourth Five Year Plan
(b) Fifth Five Year Plan
(c) Sixth Five Year Plan

(d) Seventh Five Year Plan

2. &g gmftor St Y RITTT

For Complete Test Series, Study Material, Notes, Ncert

78. Match List-I with List-1l and choose the correct
answer with the help of given codes:

List-1 List-1I
(Committee) (Estb. Year)
(a) Goiporia Committee 1. 1990
(b) Raja Chelliah Comm. 2. 1991
(c) Janki Raman Comm. 3. 1992
(d) Tarapore Committee 4. 1997
Code:
ABCD
(@ 1234
(b)2143
(1324
(d)y4321

78. al-1 Y G-Il & AR BIRTT 3R 3T T g 3
TRl ¥ gl IR AT

Tail-I -1l
wffe) (. )
@ Msafarafifa 1. 1990
(@) I AT BrE1 2. 1991
() BT T BIHI - 3. 1992
@) dRUR IAfd 4.1997
Dl
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78. Ans— (a)
The correct match is:
(Committee) (Estb. Year)

Goiporia Committee — 1990 (Banking Services Reforms)
Raja Chelliah Comm. — 1991 (Tax Reforms)

Janki Raman Comm. — 1992 (Securities Scam)

Tarapore Committee — 1997 (Convertibility of Rupees
in Capital Account)

e YA &

(afifer) (. )

TEiar I - 1990 @ T gUR)

RTST AT B - 1991 (@R GUR)

SHD! THA BiH. - 1992 @fayfd gierem)

ARTIR IR - 1997 (Uoht /A # ¥ H1 uRkad-itoan

www.studymasterofficial.com

Chinese traveller Hiuen Tsang has mentioned
Ataranjikhera as 'Pi-Lo-Shan'.
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T I & T A SRS BT I W-all-' &
=0 8 fpar 3|

79. In his travelogue, Chinese traveller Hiuen Tsang has
mentioned Ataranjikhera as:

(@) Yen-Tu

(b) Ye-Tu-Shan
(c) Pi-Lo-Shan

(d) None of these

79. A At R A 31U AT Idid § SfadeiaSl BT
IwE 39 TR fhar g

@ 3-g

@ A-q-=m=

& d-ar-z=
SESER IR

79. Ans— (c)

For Complete Test Series, Study Material, Notes, Ncert

80.In which form plants generally absorb the Nitrogen
from the soil through its roots?

(a) Nitrite

(b) Amide
(c) Ammonia
(d) Nitrate

80. T SR WR U STet & Wiy I gt & Argerom
@1 {59 =0 7 3afid axd 87

@ AIRSIRS
@ TAES
@ s
@ Trgee
80. Ans— (d)

Plants generally absorb the Nitrogen from the soil
through its roots in Nitrate form.

T TR TR ATSCIoH Bl A1Zee & T H (T SI81 &
1A § ) @ Saxifd #a B

81. Blood Group was invented by?
(a) William Harvey

(b) Robert Koch

(c) Karl Landsteiner

(d) Luee Poscher

81. &S YU &1 MADR foherds gRT fobam am ur?
@ faferam g

@ & B

@ BT dSETR

€N T URR

81. Ans— (c)

Blood Group was invented by Karl Landsteiner.

TS JU BT SMATHR BIet SR = fwar o7l
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(a) Alamgirpur
(b) Sarainahar Rai
(c) Ataranjikhera

(d) Kushinagar

g2. fFufaRad # ¥ frg =M 9§ Ui &1d § U ot
Qe & yHT el 87

(@ ARG
& TR
() SraeiRa=T
€ PR

82. Ans— (a)

From Alamgirpur, the evidence of cultivation of cotton
in ancient times has been found.

Wﬁuﬁwﬁmaﬁ@ﬁ%wﬁﬁ
|
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82. From which one of the following places the
evidence of cultivation of cotton in ancient times has
been found?
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@) Had 2

@& 1 3R 2 gl
@hAad1 RGN 2
83. Ans— (a)

Environmental Protection Act 1986 is a binding
agreement and not a voluntary one. There is a
provision of punishment in it. So, statement (2) is
incorrect.

TR TR&UT 3ifATTH 1986 U STABR HIAAT © 7
o Wy | 3TH Tol &1 UG 81 31d: HYF (2) Tad

2

83. Consider the following statements regarding
‘Environment Protection Act 1986 :

1. This Act was passed for the implementation in the
Stockholm Conference, 1972.

2. This law is Voluntary. There is no provision of
punishment in this.

Choose the correct statements from the above?
(@) Only 1

(b) Only 2

() 1 and 2 both

(d) Neither 1 nor 2

83. "TaTaRUT TR&UT HfAFIH 1986' & Ty H FRgferRad
FYAl R faTR B

1. 98 AT WihgH I, 1972 § S1aiaad &
fore ufa faram mar uni

2. T8 B Wiese 8| ST TS HT Mgy e 3
IWRIad T el HYAl BT T HR?

For Complete Test Series, Study Material, Notes, Ncert

84. Electric Generator Converts:

(@) Mechanical Energy into Electrical Energy
(b) Electrical Energy into Mechanical Energy
(c) Chemical Energy into Mechanical Energy

(d) Mechanical Energy into Sound Energy

84. fagya wif= aRafdd e &:

(@ i ol @1 e o &
@) fagga ot &1 gitie SHert &
&) TS ol Bl AAD Sorl J
@ TS Sl &I @i SHort §

84. Ans- (a)

Electric Generator Converts Mechanical Energy into
Electrical Energy.

gwwmmﬁwmﬁmm
|

85. Which of the following statements is/are incorrect?
1. India is divided into 25 Bio-Geographic regions.

2. The base of this division are Altitude, topography
and rain etc.

Code:
(@) Only 1
(b) Only 2

(c) Both 1and 2
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85. FEfafad o ¥ HF T/A HYF o 8/87
1. YRd 25 Sig-4iferss &=t § fauiford g
2. 39 fAUTSH BT SMUR 1S, VAP 3R auf 3nfe g
DS :
(@ ad 1
(@) dad 2
@ 1 3R 2 T
@had1eiRAE 2
85. Ans— (d)

None of the statements mentioned in the question is
incorrect.

Uy B Iffad &g ff HY= Tad T8 B

86. 'Probiotic’ term is used for:

(a) Organic Food

(b) Antacid

(c) Antibiotic

(d) Live Micro-organisms Food Supplement
86. MaTAfed' U HT TENT fobarr ST & -
@ Sifaw HeH

@ Terfs

@ iarifes

() Sifad gea Siia Ty SRS

86. Ans— (d)

'Probiotics’ is a live microbial food supplement, which
fulfills the needs of early death incidents, increase in
growth rate, improvement in food preservation, egg
quality and animal health.

3 Ugd i B w1l R or A g, W WRew A
YR, 3S B 0T 3R U WY BT SRexdl Bl R/
AT B

87.In an ecosystem the recycle of which of the
following does not occurs?

(a) Organic Substances
For Complete Test Series, Study Material, Notes, Ncert
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(b) In-organic Substances
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(c) Water

(d) Energy

g.wwﬁﬁaﬁﬁaﬁr@ﬁﬁﬁwmﬂﬁm

@ BreHD gard
@ srpTaifrep Tard
(@ T

@ St

87. Ans— (d)

In an ecosystem the recycle of Energy does not occurs.
Flow of energy is unidirectional.

T UIRFRUTIBT a1 H STl bl GTeieh U1 -Tel eidl g1 Frolt
&1 UdT8 Uhfa=ig gidl |

88. Which one of the following is related with the study
of birds?

(@) Ornithology
(b) Herpetology
(c) Ichthyology

(d) Serology
g8. Fufafaa & @ o19-a1 ufert & o= @ Gafda @ 2

(@ uefifasr

() gereiroit

(¥ et

SRINSE

88. Ans— (a)

Herpetology — Study of Amphibians and Reptiles
Serology — Scientific study of Blood Serum
Ichthyology — Study of Fish

gUTaTS - IHTERT 3R TEgUY BT 3reg
RIS - 7S YIRH HT IqH Sfeaa
gaTellS - ! BT Seg

Gist Books & Question Bank _




HCS 2023 TEST - 1, A complete &

@
STU\?Y MVASTER

89. Nilgai (Boselaphus Tragocamelus) found in India,is
the largest species of :

(a) Cow

(b) Goat

(c) Antelope
(d) Sheep

89. YR H TR ST aTch e (@RIAThY ereiay)
e ISl U B

@ T
@ s d
(¥ T
@h 9

89. Ans— (c)

Nilgai (Boselaphus Tragocamelus) found in India,is the
largest species of Antelopes. Like antelopes Nilgai have
permanent horns.

YR T UTE T aTelt e @Resmy Sidaed) gl
ﬁa;ﬁa@wﬁr%qnﬁm%m%aﬁ@ﬁ
BB

90. Consider the following statements:

1. The strongest part of the human body is enamel.

2. In human body, the strongest muscles are situated in
the jaw.

Choose the correct statement:

(a) Only 1

(b) Only 2

() 1 and 2 both

(d) Neither 1 nor 2

90. fFfeRad Hul IR fa=R BT

1. A4 TRR FT I ASGd HIT 339 3|
2. 7 TRR H J Aol AFuiREi s # fRyd gieft
gl

e HYUT -

(@) P 1

(@) dad 2
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@) Ta13MRTE 2
90. Ans— (c)

Both the statements mentioned in the question are
correct.

Uy ¥ IfaRad gFl sue el B

91. Consider the following statements and choose the
correct answer with the help of the codes given below:

Assertion (A): Apple has great importance for the heart
patients.

Reason (R): Apples are enriched with the Potassium,
which regulates the heartbeat.

Code:

(a) Both (A) and (R) are correct, (R) is the correct
explanation of (A)

(b) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(c) (A) is correct but (R) is incorrect

(d) (A) is incorrect but (R) is correct.

91. FEfRId Hy= R R i ok i ey Tu e
DI GBIl ¥ Hgt IR AT

DY (A) : g AT F T A9 1 9gd 78d B

HRUT (R) : JF URRET ¥ IRR 814 7, S g8 BT 4SH
@ FEfd Brar g

Eﬁ?‘s’:

(@ 3T (@) 3R (3R) el €, (31R) () BT el WHIHRUI &
@ T (@ 3R (3R) T & AP (3R) (@ PT H!
WFTHR0T LT B

@& @ T B AT (3R) TAd 7

@) (@ TTad § A (3R) T B

91. Ans— (a)

Assertion (A) and Reason (R) both are correct but
Reason (R) is the correct explanation of Assertion (A).

HU (A) 3R BRI (R) G gl § A HRUT (R), YU
(A) P T8 T B
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92. If weight of a person at the earth is 600 Newton,
then his weight at the moon will be:

(a) 60 Newton
(b) 1000 Newton
(c) 6000 Newton
(d) 100 Newton

92. Tfe; foreht afda &1 gedt R 4R 600 =g ©, al T
TR JYHT HR GNTI:

(@ 60 Fe
(@) 1000 =g
1) 6000 geA
(&) 100 e+
92. Ans- (d)

Because of weight at moon is 1/6 of the weight at
earth, so if the weight of a man at the earth is 600 N
then it will be 600/6 = 100 N at the moon.

i g IR a9 Gt P aor BT 1/6 §, T Afe
gt TR U MTeH HT aoH 600 N ¢ Al I8 IGH R
600/6 = 100 N g1
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St urg Sgfeq A | T U UHR PI g §
a‘rwﬁm%ﬁgmv@ﬁﬁﬁ&mﬁam
g&ﬁwmﬁgiaﬁ?am$wﬁﬁuﬁﬁm

|

93. Which of the following metal is present in Insulin?
(@) Tin

(b) Copper

(c) Manganese

(d) Zinc

93. FPrafifed & @ SH- arg Ty & Sufua h 3
?

@ feA

(sfh) IR
@ TS
(S fofe
93. Ans— (d)

Zinc metal is present in Insulin. This is a type of
hormone which is formed in Pancreas. Insulin absorbs
Glucose and controls the Carbohydrates and Fat
Metabolism.

For Complete Test Series, Study Material, Notes, Ncert

94. Which of the following statements related with
National Investment Fund is/are correct?

1. Revenue received from the dis-investment of Public
Enterprises is deposited in this Fund.

2. The amount received from this is kept in
Consolidated Fund of India.

Code:

(@) Only 1

(b) Only 2

(c) 1 and 2 both

(d) None of these

94, TSV PRI Y § Weiftra PR & & e a
HYF el 8/3?

1. Frdvi=e IgH! & e @ urd IoRd &Y 59 HIv A
ST fohaT SIraT g

2. SR YT 11T YR 3} Ty ARy & et ol 71
HIS

(@ I 1

(sfh) Pad 2

@ 1 3R 2 g

SIEEEEEIE

94. Ans- (a)

National Investment Fund was formally started in the
year 2007. Revenue received from the disinvestment of
Public Enterprises is deposited in this Fund and this
amount is kept out of the Consolidated Fund of India.

ST AR S Siaie U ¥ 99 2007 & TE e
T 7| Grawi-es IeH! & fAfaw § U I &1 59
DY H AT b ST § 3R 39 R Y YR 1 I
fAfY T 918 W1 AT B

95. Consider the following:
1. Albumin

2. Globulin
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3. Nucleo Protein

Which of the aboves is/are the example of Conjugated
Proteins?

(a) Only 3

(b) 1and 2

() 2and 3

(d) All of the above

95. frafaRad W faaR i
1. Tegfid

2. TelIgfer

3. fdaa WA

Iudad B § HH-I1/ YT W HT IS0 3/87
(@ &ad 3

@ 18R 2

@ 2 3R 3

(S SWRIad Tt

95. Ans— (a)

Albumin and Globulin are simple proteins while
Nucleoprotein is the example of Conjugated Protein.

e SR TSR TR WIEH & S e
TYfird T BT 3180 &

96. Which of the following items are kept out from the
National Income?

(a) Domestic Services

(b) Buying & Selling of Share Certificates
(c) Pension

(d) All of the above.

96.?%@31?@@?@&1@@%@@?@
STt 87

(@ TR FaTY

(&) AR g B @i R
& g

(S SWRIad gt

96. Ans— (d)
For Complete Test Series, Study Material, Notes, Ncert
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All the items mentioned in the question are kept out
from the National Income.
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97. Which of the following pairs is not correctly
matched?

(a) Anthic Acid — Apple

(b) Acetic Acid - Pickel

(c) Carbonic Acid — Soda

(d) Ascorbic Acid — Lemon

97. Fafefed & § wH-w1 gm gafia 7 ¥
(@ O ofrs - 99

@) Thifes TS - SR

@) Brei-e TS - FreT

©) TEpIiei T - g

97. Ans— (a)

Malic Acid is found in Apple.

9 7 Aftres TS uman e 71

98. Which one of the following pairs is not correctly
matched?

(a) Silicon Carbide — Artificial Diamond

(b) Wool — A Protein

(c) Rayon — Converted Starch

(d) DiChloro DiFlouro Methane — Refrigerant
98. Fofaifea & ¥ ®H-u1 g1 wet gafed 8t 82
© TR Prafzs - Hhm R

(&) S - Tb e

@) ¥ - uRafdd @

S STeRIRT St TRART HIY - XfTpoRe

98. Ans— (c)

Rayon is a fiber made from regenerated cellulose.
AT gASiad Sqaret ¥ &1 Ue W3R gl

99. All the oxygen released by the process of
photosynthesis of plants is obtained from:
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(a) Water
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(b) Chlorophyll
(c) Carbon Dioxide

(d) None of these

99. Ut o TebT=T TReIUT 1 Ufha gRT Had g arelt
T SiTeritoT UTed Bl @

e
CDESIRIE
GDECEISIEEICRIES]
& =78 I B T
99. Ans— (a)

All the oxygen released by the process of
photosynthesis of plants is obtained from water.

et H YehpT=T YA Y Ul T gRT ad g arelt IHd
SRS Sfet & U7 gt B

100.Which one of the following statements is correct?
(a) Colour of blood is red because of snow pigment.

(b) The main function of Haemoglobin is convection of
Oxygen.

(c) The cemetery of dead blood cells is called the
spleen.

(d) All the statements are correct.

100.fFafaRad & @ &F 91 HUF T8 87

@ feq avies & HRUT e &1 7 ATt giell ¢ |

(@& g o1 g F SfiaRiieH &7 Yag g

(& g Yo BRSBTS & Hiowar o foceh w1 S g
@& wft 5= T g

100. Ans- (d)

All the statements mentioned in the question are
correct.

Uy § Sfcrad g T I8 B
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Six friends Rohit, Rachit, Rinku, Raj, Rajat, and Rishu are sitting in a row at different positions, but not
necessarily in the same order. Rohit is sitting at the first position from left while Rajat is sitting at the
third position from right. Only two friends are sitting between Raj and Rinku. Raj is an immediate
neighbor of Rohit. Rishu is not an immediate neighbor of Rajat. Who is sitting at the second position
from the left?

(A) Rachit (B) Raj (C) Rishu (D) Rinku

we fia feq, thaa, Rg, T, W@ o Ry & o 9 sfav—eie WMl 0¥ 96 &, Wi Sl 1 o g6l %a
# 21 Ofed 91d & wed WIF WX Jo1 ¥ Tafp Wi @ & d\Y WHE X F31 71 O ofR R % dra daw 31 fr
93 ¥ T, Afed 1 Frebeaw w=iE ¥, Ry T @i Fehead wSEl T8 ¥ 9 @ gE WM WX B doT ¥ 7

(A) B) T ©) fg O g

Six persons Raj, Rohit, Rachit, Rajat, Rishu, and Rinku are working in an office. Each of them has a
favorite car viz. P, Q, R, S, T, and U, but not necessarily in the same order. Each of them got a different
salary — 1000, 2000, 2500, 3000, 3500, and 4000, but not necessarily in the same order. Rajat gets a
salary of 2500 and his favorite car is U. The one who likes car Q gets a salary of 3000. Rachit likes car
P and gets a salary of 3500. The one who gets a salary of 1000 does not like car R or S. Rinku does
not like car Q or S but gets a salary of 2000. Rishu gets a salary of 4000 and does not like a car R. Rohit
does not get a salary of 1000. Who gets a salary of 3000?

(A) Rohit (B) Raj (C) Rinku (D) Rachit

B Afh UWl, Ufed, Waq, @, Ry o g ue driad § &M 6 &1 39 § Y% & U6 U%h GEaal &
T orafd P, Q, R, S, T 8 U, wfeht st&dy =12 o6 36 6w & &1 e &l SterT—3ta It — 1000, 2000, 2500,
3000, 3500 X 4000 frear & wiehd ST 781 f6 6 %9 # & Td &l 2500 Ia7 fraar & ofix Ia! wearaT
HR U ¥ 58 &1 Q vz & 38 3000 Ia7 fierar &1 1faq &t & P wde & ik 3§ 3500 Ia7 foean 21 9%
=ferd & 1000 o frerar & 39 &R R @1 S w&e 78 31 fig &l &) Q a1 S wee 7 & @feh 2000 T freran
T Ry @t 4000 a7 fraar & ot 39 R &R wde T &1 ARk @ 1000 I & frerar 21 3000 &1 JaT fpd
forerar 37

(A) fed (B) = ©) =z (D)
The only with the proposal is that it is a little expensive.
(A) glitch (B) " blunder (C) hardship (D) dilemma

Five friends P, Q, 'R, S, and T live on a separate floor of a 5-floor building, but not necessarily in the
same order. The.ground floor is numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numbered 5. S lives immediately above P. Only two friends live between S and T. P lives on the
lowermost.floor. Q does not live on an odd-numbered floor. Which floor does R live on?

(A) 5t (B) 2nd (C) 3d (D) 4t
g it P, Q, R, S @R T Ush 5-%K &% W+ & ST Tk U {&d &, dichT i@l el fop 36 | o &)
MBS TR b T@T | &, B G dl G 2 &, 3% 36 d4E 999 HUL b Tk &bl @ S 1S, P& o

FUYT ol &1 S X T & 1 had o i &d €1 P 998 1 & %@k TX &dm &1 Q fauy & o Wik ©W
€ TEdr ¥ R g Wil o wEar ¥ 7

(A) Sar (B) g&Ea (C) d=x (D) 4o
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Six friends P, Q, R, S, T, and U are sitting at different positions in a row of the company, and each of
them get a different salary viz — 500, 800, 1000, 1500, 1800 & 2000, but not necessary in the same order.
The friend who gets a salary of 2000 does not sit at the extreme end of the row. Q sits immediately before
R and gets a salary of 800. T sits between U and S. Q is second to the left of S. P sits at the left end
of the row and gets a salary of 1000. T gets a salary of 1500. R gets a salary neither of 2000 nor of 1800.
How much salary does U get?

(A) 1800 (B) 2000 (C) 500 (D) 500 or 2000
Be A P, Q, R, S, T X U &huxl &l Ueh URh H STeT—aTeT WMl T 93 &, 3 S99 & Y @l e STerT
a1 faetdr & S - 500, 800, 1000, 1500, 1800 3T 2000, wfehsT & &l SET %A ¥ &1 2000 49 G e
firsr dfts % sifaw B wx & Fo1 71 Q, R & I weet d&ar & &X 8§ 800 Ia+ fr@ar 31 T, U efx S & 91w
Foa1 8, Q, S & AW ¥ TEX WN W &1 P Ul % 91¢ BR WX Joar ¢ X I8 1000 I fear 1 T @ 1500
I faetat F1 R &0 7T @1 2000 I frerar & ok = & 1800 da11 U @t febaem daw fyerar 22

(A) 1800 (B) 2000 (C) 500 (D) 500 & 2000

Five person P, Q, R, S, and T lives on a separate floor of a 5-floor building, but not necessarily in the
same order. The ground floor is numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numbered 5. Each of them also has a favorite subject from = Hindi, Science, Math, Art, and
English, but not necessarily in the same order. The one who lives on the second floor likes Math. R likes
Science and he lives on the third floor. The one who lives on the lowermost floor likes English. P lives
on the fifth floor. S lives on the floor immediately above T. The one who likes Art does not live on an
odd-numbered floor. Who lives on the second floor?

o fist P, Q, R, S &R T Ush 5-9iiX & Mad & STelT—3(el Tl U T&d &, Wik sedl =1ef fob gt & & &)
TETS FX T &1 1 &, & FX & &I 2 ¥, 3 36! d{e 998 SI & K & g& 5 21 o € Jdh
@1 gEdrET fawg O § - &), fagm, afta, & ofik oiish, afet sied 181 i 36 o # #1197 afe s g
TR IR T 8, TG TEE Bl &1 R #1 f9em9 q6g & ofit 98 9|y WX WX TEdl &1 98 |ih o g9d [
% TR UX T &, TS T6E & 51 P ufad "R qx w@ar §1S, T % 3o SR a1l WX UX &l & | 98 b
e wer wee ¥ 98 fawm e g WIR 9T e @l B | qEY WA U B T © 7

(A) S B) P © T D) Q

Given statement is followed by two assumptions numbered (I) and (II). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the given statement.

Statement : To save the environment, a complete ban on illegal mining should be imposed on the
whole country.
Assumptions.: (I)  Mining done legally does not cause any harm to the environment.
(II) .-Mining is one of the factors responsible for environmental damage.
(A) Only Assumption (1) is implicit.
(B)  Only Assumption.(II) is implicit.
(C) Neither Assumption (I) nor Assumption (II) is implicit.
(D) Both Assumption (I) and Assumption (II) are implicit.
foq g wu & "r 1 A (1) o (1) feu U § )| ofuel ®e &1 FE "IN 8, o 81 98 AErad: S aedi
¥ =1yl 2l &1 qg &Y fp & T amonst § & &9 @, difke w0 ¥ R T wus & |ry o ¥
FF ¢ qAEROT B gOW b AU Q@ A F oY @ WX qUf wfqey @ S 9|
gromd (1) &M &9 ¥ fRU U e qaiane b el JeaE Tel s B
(1) @ gl afg & oo er sRel § § s )
(A) haw gron (1) FiEg )
(B) haw arom (1) Fiea 31
(C) = ar greom () &k 7 & geon (1) fafea #1
(D) agwem (1) &R aren (1) &1 e
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Given statement is followed by two assumptions numbered (I) and (II). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the given statement.

Statement : The largest computer manufacturer has reduced the prices of most of the models of
the desktop by about 15 percent with immediate effect.

Assumptions : (I) The company may incur huge losses due to the reduction in desktop prices:

(II)  The sales of desktops manufactured by the company may increase significantly
in the near future.

(A) Only Assumption (I) is implicit.
(B)  Only Assumption (II) is implicit.

(C) Neither Assumption (I) nor Assumption (II) is implicit.

(D) Either Assumption (I) or Assumption (II) is implicit.

faw g we &A@ & egAE (1) o (1) T U ¥ )| oue! wU B GE WA, A & 98 SEga: S ag
Y 91wl 2rar &1 qg & fe & T amomet § & W @, difhe w9 § U T wus F Gry o ¥

FH ;GG I3 bR} AT 7 SWHeT % AfIBieT AISA! Bl brdl J qehld THE § @ 15 wfast @
F B R

gqromd (1) S@herd HFal ¥ HH T BUAl Bl WK JHEH & Hahal ¢ |
(I1) ot grar Tfa S o fasbr feve afass & ot s gadr T
(A)  Faw green (1) T &)
(B) ®aw areen (11) ffea 21
(C©) = ar grom (1) ofe 7 & areem (1) fafea
(D) areem (1) &R gren (1) < e 1

Given statement is followed by two assumptions numbered (I) and (II). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from.the given statement.

Statement : Before giving. full werk to the employees, give them work-related training.
Assumptions :. (I) .. Training helps the employees to increase their performance.
(II) Employees do not have any skills prior to training.
(A) Only Assumption (I) is implicit.
(B)  Only Assumption (I1).is implicit.
(C) Neither Assumption (I) nor Assumption (II) is implicit.
(D) Both Assumption (I) and Assumption (II) are implicit.
feu 1T wu % ar q1 egAE (1) o (1) few Tu ¥ | oTuenl wue @1 TE WA, VA € 98 SEaa: Sid ag
g =T uclia glan 81 o & fF &1 T greemelt § @ &N @1, difes w9 @ QU T HUT & @y S §)

FUA:  HHAE B GU B A F UEA I bW G g winae )
gqromd ¢ (1) WiTeror Heanial &l S+ WeH @l 9o ¥ Hag didl |
(I)  9fdteror & Uee BHAMEl &b UTE B3 B &l 8|
(A) Haw green (1) Ffea ¥
(B) Faa greem (1) fafea 21
(C) = ar g () ek 7 & gren (1) fafea &1
(D) greom (1) & green (1) <= fafa )
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Given statement is followed by two assumptions numbered (I) and (II). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the given statement.

Statement : It is necessary to grow different types of crops in each alternate season to replenish
the nutrients in the soil.

Assumptions : (I) No crop can be grown for the second time in the same field.

(I)  If a different crop is grown in the next season, the soil does not require additional
nutrients like fertilizers.

(A) Only Assumption (I) is implicit.

(B)  Only Assumption (II) is implicit.

(C) Neither Assumption (I) nor Assumption (II) is implicit.

(D) Either Assumption (I) or Assumption (II) is implicit.

few MU U= % qe A ogEE (1) & (1) few Tu ¥ Ul BUT B T A ¥, Wl & 98 QI S| qgdt
g =1 wdid 2lan B qg &Y fe & T amons § @ @ 4, difee w9 ¥ R Ty wus & qry o ¥

FAF S W v dwil @ gid & WU TQe dwicad qeE H faiE T @ HE ST A9 ¢ |
gomd : (1) UH A WA W qEA I B3 BEA el SIS S dhall
(I) 3fx oFe Je9 § gl ®ed Mg a8, df fgl @ Sl S sifafid dive a@i &
SMETHAT &l Bl 5

(A)  haw greon (1) M )

(B) ®aw areen (11) ffea 21

(C) = ar greon (1) ik 1 & areon (1) fafea )
(D) grom (1) i gwon (1) <. ffed T

Given statement is followed by two assumptions numbered (I) and (II). You have to consider the statement
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the given statement.

Statement : If farmers want better yield then they should use organic manure instead of chemical
manure.

Assumptions : (I)  Chemical fertilizers have some bad effects on health.
(IlI) Chemical fertilizers do not produce as much yield as organic fertilizers.
(A) Only Assumption (1) is implicit.
(B)  Only Assumption.{I).is implicit.
(C) Neither Assumption:(l) nor Assumption (II) is implicit.
(D) Both Assumption (I) and Assumption (II) are implicit.
faw T wom & A < oA (1) o) (1) fow Tw ¥ )| eyer %o @y WE AEAT ¥, YA & 9% 9rga: 3 qet
T =1 wdia Bl Bl 9@ HY 6 &1 TS aronelt § ¥ d |, qMihds ®9 ¥ U Y HAT F Y T S

FYE ;| Iig fhE™ JEdY IUS TTed & ol 9% UMD WG & WM UX SAfaeh WIS Bl YR BT AT
aomd (1) et Sl @ @l WX $% U YHE usdl B
(1) Tt @R @ Sal deEr T2 e i Sfae e @ e g
(A)  aw green (1) Ffea #)
(B) waw aren (11) i 21
(C) = ar areem (1) ofie =1 & greon (1) fafea 31
(D) grem (1) & green (1) <= fafa
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Rajat starts walking West from his college, then Rajat took one left turn, one right turn and then another
left turn to reach his home. In which direction is Rajat's home from his college?

(A) East (B)  South-West (C) North-West (D) West

A AU Bl o UfEd @ R T E Al @, [hT T60d oY "X UEEH % fWU U% A6 gIdT 8, Uh 9%
T gear & o fFT @l A 91d gear ¥ 1 T # uY SHeb didel o fhd faem H ¥ 7

A wE@ (B)  =fur-—tyem (C) SuR-uiyEw (D) ufe=m

Saurabh walked 10 m West, took a left turn and walked 20 m. He then took a right turn and walked 10
m. Then he took a left turn and walked 20 m. Then he took a right turn and walked 10 m. Finally he
took a right turn and walked 40 m. How far was he from the starting point? "

(A) 30m B) 25m ©) 20m (D). 18 m

w10 # afyed & o ga@ar &, ¢ gear ¢ ofik 20 W awar ¢ | fRY 98 1 gear & o 10 7 g@dr §1 f6e
I TS 9 ST 910 gedr & ofX 20 H =g@ar 31 AT 9% e gedr & iR 10 W =@ ) ofd ¥ 98 I qIar §
3T 40 W T@ar 21 I8 omifve fog & fopasir g am?

(A) 30 (B) 25+ (C) 20 (D) 18+

Rajat walked 20 m towards East, took left turn and walked 20 m. Then he took a right turn and walked
20 m. Then he took a left turn and walked 20 m. He again took a left turn and walked 40 m. Finally,
he turned to his left and walked 20 m. In which direction is Rajat facing finally?

(A) East (B) South-West (C) “South (D) West

o g B ST 20 W awar ¥, 9 gear & o 20 W g@en 2| {6 9% I gear ¥ o 20 W g@dr ¥ fee
5 91¢ geaT & o7 20 o gI@dl ¢ 1 98 T 9K Y ¥ 9 goar ¢ X 40 H @ ¥ ofd ®, 9% oAy 918 &%
edr & 20 W Sar ¥ ofd A o B q@ e faam A #?

A) w (B)  aféor—atvem (C) afm (D) ufyam

Gaurav walked 60km West and then took a left turn and walked 60km. He took a left turn and walked
20km. He took a left turn and walked 20km. He took a right turn and walked 20km. He again took a left
turn and walked 20km. Finally, he turned to his right and walked 20km and stopped. How far is Gaurav
from his initial position?

(A) 30 km (B) 25 km (C) 20 km (D) 18 km

Mg 60 forrdt aftem &t @ik goar & ofR fAT a1d gsar ¢ o 60 fordl a@ar &1 98 a1d gsar ¢ & 20 foamt
TAGT & | 9% 90 gear & i 20 e Twar 31 9% I gedr § &K 20 R awar ¥ 98 we 9 R 9] gear
% ol 20 fopely aean &1 of o, g7 S1o arfer 8N qoar & iR 20 fopdt s & ofX e s 1 W eru urifes
W ¥ fopat gr g’

(A) 30 fepdir (B) 25 fepHir (C) 20 fepeir (D) 18 feaHit

A worker starts walking from his office. He first walks 40 meters South, and then 30 meters West. How
far is he from the starting point?

(A) 45m (B) 55m (C) 48 m (D) 50 m
U T 310 HrTad & A & HIAT & | I8 Tea 40 HieX IfHor &t i ik feT 30 Hrex ufyem &1 & =
¥ = o fig & el o 37

(A) 45 (B) 557 (C) 48 % (D) 50
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The following question, contain four problem figures and four answer figures. Select a figure from
amongst the answer figures which will continue the same series as given in the problem figures.

frrafafad weT & AR wwe sTpiaal SR AR SR APl € | 3T AGIaAl § F IH b AP B T Bl
S SE W W S T S e st 6 a4 g 2

Problem Figures (T9&1 w
»* A =
O N m X
T X | T X ¥*
Answer Figures (% w
®ACA mMAR AW
- Xl Yo X
»*o X| WG Pt LaaS
(a) (b) (c) (d)
A) (@ (B) (b) @, 9 ™)@

The following question, contain. four problem figures and four answer figures marked (a), (b), (c), and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the

problem figures.

Frrefafad weT § @ guwn sngfoat iR I IOX safaar &, e (a), (b), (c) 3R (d) fafea frar mr ¥
I SpfaAl § & IF U MBI Bl T HY S G IO B S @ S wwen st § 4 TS F)

Problem Figures (@7 st

— | — ) —

*r— | OV— | O—> | o—
— | ——F | —¢ | ——o
r— | ——> | o—> | o—

Answer Figures (ST aTefear)

|
|

(a) (b) (c) (d)

A (@ B) (b © (© D) @
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The following question, contain four problem figures and four answer figures marked (a), (b), (c), and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the
problem figures.

frrfafad weT & @ g9en sefaar ofiR @R AR smpfaat €, =@ (a), (b), (c) 3R (d) fafea frar mr %)
ST AGAl H H SH TH G B 999 B S SH HIAA DBl AR @ g At ¥ & 0 5

Problem Figures ('H‘TFTI GTIEEEWT)

< | A

Answer Figures (ST WEEI%WT)

O

(© @

A) () (B) (b) ©). (c) D) (@)

The following question, contain four problem figures and four answer figures marked (a), (b), (c), and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the
problem figures.

Frrfafad g7 & 9 @HEn safaal ot a) Sax sl &, R (a), (b), (c) iR (d) fafea frar mr &)
AT STl W W I TH TP Bl ggF B Sl SHT AT Bl T T ST GHET il § & T3 8|

Problem Figures (G9@& 3@&‘1‘17)

\Je2imN ﬂO@@@O@D@@

Answer Figures (S 3Tl

I@@O

OIOE

RN

\JE2iE Y

(a)

A @

(b)

(©

(B) (b)

(d)

©
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The following question, contain four problem figures and four answer figures marked (a), (b), (c), and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the
problem figures.

Frrafafad ge7 & o ww@n agiaar o AR AR angfaat &, fE@r (a), (b), (c) 3R (d) fafea fwar mm ¥
I SMpial F § I UH SN BT IFT HE Sl SHI WO B S WA S qwedn nepfaat o & TE R

Problem Figures (W w

&5 [7]4

Answer Figures (Gﬁ'{ w
Z Z
\\\\\é v \\\\é v E EI
A @ (B) (b) © © D) ()

The line graph shows the road accidents happened in three different cities in India. The Y axis in graph
represents the number of accidents happened. In which year, the difference between the accidents in City
A and City C is minimum?

g TS U6 WA & A9 ST 98X A &5 ot GHSISH Bl qIfal & | uied gHeS @ € H MH |
Y ote qotar & | fope A # sX A Sl 9y C ¥ gHerel & 99 @1 Sfay gAad & 7

140 A
120 //’—
i 2\\_\/ B

60 | \-/\\0/

50
40 -
30 -
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10, 1
00—

1993 1994 1995 1996 1997 1998 1999

Years
—@— City A —— CityB —— CityC
(A) 1997 (B) 1996 () 1995 (D) 1994
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There are 8 patients in a hospital. The average weight of the 7 lightest patients is 45 kgs. and the average
weight of the 7 heaviest patients is 52 kgs. The difference between the weight of the heaviest and the
lightest patient is

AT § 8 TN & | 7 HEH Tk AR @l ofEd aw 45 franm € 1 8k 7 gee Wil AR @ efed ae s
52 T € | gEH 9T oY @S9 b AN % a9 b A & A} fhaar &

(A) 47 (B) 48 © 49 (D) 50

Total 25 students appear for an examination. Rahul and Mohan are among those 25 students. Rahul scores
98. The average score of the 24 students other than Mohan is 48. The average score of all the 25 students
is 2 more than the average score of 24 students other than Rahul. How much Mohan has scored?

T ThE ¥ P 25 B SURYA B4 ¥ 1 99 25 Bl ¥ Wgw o Aiew o enfie ¥ 1 Wgd @ @K 98 ¥ | Hiew
% STATEn 3T 24 Bl B o Wik 48 ¥ | Ul 25 BTEl @1 S Wik UEA Bl BlsHT 24 BIE & 3iEd @Y
T 2 offue ¢ | Aied 7 fea @b fear § 7

(A 72 (B) 86 (C) 98 (D) 82

The parents have m number of children. The average age of father, mother and m children is 20. The
father is 48 years old, and the average age of mother‘and m children is<16. The number m (numerical
value) is

HIAT-TAT & geai @ e m & | U, A o mosEdt w7 of|a g 20 € | R @ ey 48 a9 ¥, o "
3 m s<at @ of|d oMy 16 ¥ | @ m (SemEs W) fha € 2

(A) 3 B) 6 © 1 (D) 2

A is twice as old as B and C is thrice as old as A. If'A’s age is 2 years less than the average age of all
three A, B and C, then C's present:age, in years;.is

A% g B AN E IR C & g AT A9 T & | Al A @l g A, B 8iR C @1 &1 ofred omg |
294 &9 %, @ C & gaa oy, auf A fpa-t & 7

A 10 B) 9 <€) 8 (D) 12

Twelve years ago, the age of the father was three times the age of his daughter. After twelve years,
father's age will be twice than of his daughter. The ratio of their present ages is

e a¥ g far &l g Stunl IE Sl g & A T T | e av 9 fudr @ omg o gel @y eig ¥ aR
BRI | ST A g B STIUIT dT & 7

(A) 4.7 (B) 27 (C) 43 (D) 73

A mother has decided to.sum and product the ages of her children Ishan and Anushka. The sum and
product of their ages are 18 and 56, respectively. The solution of which quadratic equation gives the
possible ages of Ishan.and Anushka?

T Al A U g F9T 3iRX ST Bl Y BT ART B ST [UEA @ w1 i fpam & | et oy @1 A
3T U ST 18 o 56 & fope famma wieeer &1 & 39T i oIt & dwifaq omyg <a1 & 7

(A) x2+56x—18=0 (B) x2-56x+18=0

(C) x2+18x-56=0 (D) x2-18x+56=0

The product of Vidhi's age (in years) three years ago and her age five years later from now is 1 more
than twice her present age. Vidhi's present age(in years) is

A av gew @ fafy & ey (aut ) ok o9 § ufa a¥f q1g @ IHT Y BT YU IHBN A Y H QA
g 1 ottt & | fafy & aqae ey (ast W) fear @ 7

A 4 B) o6 <) 8 (D) 10
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X is a% more than Y and Y is b% less than Z. If X > 0, Y > 0, Z > 0, and X > Z, the relation between
aand b is

X, Y8 a% s 3 ofR Y, Z¥ b% w2 13t X >0,Y>0,Z> 03k X>Z, @ a3k b = @
ey ¥ ?

(A) 100a < b(100-a) (B) 100a > b(100-a)

(C) 100a > b(100+a) (D) 100a < b(100+a)

Mr. Harshal spends 40% of his savings on the medical expenses for his wife Mrs. Bhasha. He also spends
20% each of the remaining amount on his three daughters on their education. From the remaining amount,
half of it was spent for a family trip and the amount remaining in his saving account is Rs. 12,000. How
much money did Mr. Harshal had initially?

. B U A d 40% SO G ST W % Tafehet X wd @i €1 S Al @ 20% Ao qA
feai & ydw B e W T B & | AW T B7 ST WA T Unianiy a=n & fou wd fean o ow
Rs. 12,000 Tf¥1 39% s9q @ & & | /1. s9¥a@ & U & § fopaer afdr o ?

(A) Rs. 50,000 (B) Rs. 1,00,000 (C) - Rs. 1,50,000 (D) Rs. 2,00,000

The ratio between the prices of two bicycles is 15:26. If the price of first is increased by 10% and that
of second by Rs. 550, the ratio between the prices is 13:22. What were the initial prices of the two
bicycles?

3 wigfhal &b el H U 15:26 ¥ 191 gsel & g3 ¥ 10% @ iR @l % 9w ¥ Rs. 550 @4 ghg &
S ®, @ qedl & & w1 ourd 13:22 8 Sar § | G wiEfeal ar unifhe e @ ot ¢

(A) Rs. 7359 and / 3X Rs.3652 (B)  Rs. 4290 and / 3fX Rs. 7436

(C) Rs. 4719 and / 3T Rs. 7986 (D) Rs. 5629 and /3% Rs. 8539

Rs. 1200 is divided among X, Y and Z such that Rs. 30 more than 3/5t of X's share, Rs. 10 more than
2/5t of Y's share and Rs. 20 more than 5/7th of Z's share, all are equal. What is Z's share?

Rs. 1200 &1 X, Y @X Z ¥ 39 yebiX fauiforg fepan sran & f6 X & wmr & 3/59 91 & Rs. 30 atferes, Y & 90T
% 2/54 ¥ Rs. 10 31 3T Z & 9rT. % 5/7d 901 & Rs. 20 3ifies, g4 @ & | Z &0 90 b & ?
(A) Rs. 299.698 (B). Rs. 560.175 (C) Rs. 340.116 (D) Rs. 134.07

Ram and Sham together have Rs. 285. If 2/3™ of money with Ram is equal to 3/5t of money with Sham,
then what is the money with Ram?

T SR W % ITE o et Rs. 285 F | Afe W % W €9 @ 2/3 O b 9H €9 % 3/5 % UK 5, @
T F T fheAr g9 € P

(A) Rs. 150 (B) Rs. 200 (€©) Rs. 85 (D) Rs. 135

Two busses are at two different places 76 km apart. They start moving towards each other. If their speeds
are 20 km/hr and 18 km/hr respectively, after how much time will they meet each other?

(A) 2 hrs (B) 2 hrs 50 mins (C) 3 hrs (D) 2 hrs 30 mins

T aE 76 TR B U U A ST WA W ¥ | J U @Y B SR e @ & | gfg I TN BHST:
20 et ufa wer ok 18 foprdt wfa =1 &, & 4 wa-—gEX 9 fha g99 98 fely ?

(A) 2% (B) 2% 50fie  (C) 3 (D) 2% 30 fire
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Two trains are moving in opposite direction. First train is 150m long and its speed is 40 km/hr and the
length of second train is 170m. If they cross one another in 4 seconds, what is the speed of the second
train?

(A) 248 km/hr (B) 320 km/hr

(C) 100 km/hr (D) 160 km/hr

1 o ol feem & =@ W E | weal o 150 |l FEl & X 3Ha! i e uid 40 fptr € o gEdl o7 @ @
170 /1. % 1 afs I ws @ B 4 Fbs F U B &, q qE oA b g ®@MF 7

(A) e gfq 248 feaedt (B) e wig 320 feer

(C) der gfa 100 fepe (D) e gfq 160 ey

A man covers distance of 1400km in 80 days resting 10 hours a day. If he rests 16 hou
at 2.5 times the previous speed, then in how many days will he cover 1000 .km?

(A) 35 days (B) 20 days (C) 40 days (D) 50 days

T TEHT yfafed 10 5 oW wXd 5T, 80 f&Ai # 1400 forrht @l i & &ean @ 1 afe 9% wfafed 16 @2 s
HIAT & X frwar AT & 2.5 T A & T@dt &, 9 g8 1000 A A g0 feaw oA § @@ wom ?

(A) 35f= (B) 20 & (C)« 40 f&m (D) 50 f&=

A fraction becomes 3/5, if 3 is added to both numerator and denominator. And, it becomes 1/2 if 5 is
subtracted from both numerator and denominater. What is the fraction?

gfe 3iyr ST el ¥ 3 s fear o ue M 3/5 8 il ® 1 iy SR B ANl ¥ 5 wem W gE 1/2
Ao e (= ang ?
(A) 21/37 (B) 7/9 (C) 49/67 (D) 9/11

There are three fractions. When_ the largest fraction is divided by the smallest fraction, the result 3/5 is

greater than the middle fraction by 1/3. If the sum of the 3 fractions is 3%. What will be the difference

between the largest and the middle fraction?

S PrT ¥ 1 ot aed ad T ) a8 e & R R ST &, a1 R 3/5, wem P @ 1/3 ot
fam R 3 R a A 3%% | WS ol e e % S R o g ?

(A) 142/13 (B)  109/120 (C) 69725 (D) 49/40

The product of two fractions is 5/4 and their quotient is 4/20. If the denominator of one fraction is
2/5 times that of. the ‘others fraction, then what is the sum of the two fractions?

T et BT UHEA 5/4 % SR S WrTRd 420 % 1Ak wd Al e g B s A 2/S T R, @ A
=t a1 g w2
(A) 3 (B) 6/5 ©) 23 D) 1

The ;sum of numerator and denominator of a fraction is 5 less than thrice the denominator. If the
numerator ‘and denominator are decreased by 2, then the numerator becomes half the denominator.
Determine the fraction?

usp =T % oiet o ST 1 AFT X F O W & S w9 ¥ | Afy ofr o wX H & 2 wer fomm o, dv efer wX @
e & sirar & | P frgifa @i ?
(A) 47 (B) 4/3 (C) 59 (D) 3/4
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Directions for the following 4(four) questions no. 85 to 88 :

The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

frafafaa 4(aw) g9l (|, 85 A 88) ¥ faw fdar -

frrfataa 4 weisn si¥sT & Frafafad aftess TX snaTiid & ofiT Sisi AW % e & qdeT & e & | ofd: 37 weien &
fe=ar wre 7@ fean s @ B

Scientific studies can remind us of our kinship with animals, but on their own they cannot help us understand
the meaning and importance of that kinship, nor its moral and political implications. For this; we need to
examine our concepts and ideas about animals — a task that requires philosophy.

As children grow up, they learn to think in terms of a variety of dichotomies, such as man and beast, nature
and reason. The job of the philosopher, Midgley argued, is twofold. A philosopher must examine the way these
dichotomies work on our imaginations, and affect our ways of acting and being; and must articulate, or bring
forth, new images that will free our imaginations from their hold.

Humans do, of course, have exceptional capacities that make them different from, and also especially dangerous
to, other kinds of animals. The idea that humans are different must be respected: We are not alone in eating
other species, or in hunting and hurting them for play, as all cat lovers know. But language transforms these
natural activities and gives us the power to alter our environment.in ways that-go far beyond that of other
animals.

Elizabeth Anscombe, wrote about the ways in which the acquisition of language affects human life. She noted
that there are some things you can get a person (or indeed a dog) to do without language. But if you can get
them to make a promise or sign a contract — two activities reliant on human language — the possibilities for
involving them in your plans become vast.

Advanced technology, industry, culture and art depend on the sorts of cooperation that would be impossible
without human language. And each of these alters the way our natural animal instincts are realised in the world.
Money, banking, commerce and trade allow our animal desire for warmth and shelter to be realised through
hoarding resources. Territorial instincts, common to most animals, are reshaped through property rights. We
farm at an industrial scale and eat other animals not just because we are hungry, but because to do so culturally
signifies wealth or status.

Though it is our language that makes us the most dangerous of all the animals, Midgley thought it was
nevertheless in language — rather than in science .or technology — that our environmental salvation must lie. In
her book Science and Poetry, she writes about the way in which metaphor and metre can return us to our
childhood perspective — to looking under the fence that separates humans from other animals.

85  Which statement describes the word ‘Dual’?
(A) The possibilities for involving.them in your plans become vast
(B) And each of these alters the way our natural animal instincts are realised
(C) The job of the philosopher, Midgley argued, is twofold
(D) Metaphor and metre can return us to our childhood perspective

86  Find the closest synonym of the underlined word from the given sentence:
Scientific studies.can remind us of our kinship with animals.
(A) Lineage (B) Gregariousness (C) Coalition (D) Companionship

87  Identify the verb from the given options based on the given sentence.
But language transforms these natural activities and gives us the power to alter our environment in ways
that go far beyond that of other animals.
(A) " Activities (B) Transforms (C) Ways (D) Beyond

88  Which of the following options best describes the given statement?
We farm at an industrial scale and eat other animals not just because we are hungry, but because to do
so culturally signifies wealth or status.
(A) Human beings consume meat in a large scale
(B) Abundance and prestige drive human beings to act independent of their needs
(C) It is a common practice to eat animals whether one is hungry or not
(D) Most of the farming is done only for commercial purpose
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Directions for the following 4(four) questions no. 89 to 92 :

The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

frafafaa 4(aw) geAiell (|, 89 ¥ 92) ¥ fou s :

frrafataa 4 weien si¥sT & Frafafead afeess TX naTiid § ol SiUsi AW % e & qdeT & e & | of: 37 veaien &
fe=ar ure @Y fean = @ B

Macbeth is done upon a stronger and more systematic principle of contrast than any other of Shakespeare’s
plays. It moves upon the verge of an abyss and is a constant struggle between life and death. The action is
desperate, and the reaction is dreadful. It is a huddling together of fierce extremes, a war of opposite natures
which of them shall destroy the other. There is nothing but what has a violent end or violent beginnings. The
lights and shades are laid on with a determined hand; the transitions from triumph to despair, from the height
of terror to the repose of death, are sudden and startling; every passion brings in its fellow-contrary, and the
thoughts pitch and jostle against each other as in the dark. The whole play is an unruly chaos of strange and
forbidden things, where the ground rocks under our feet. Shakespeare’s genius here took its full swing and trod
upon the farthest bounds of nature and passion. —William Hazlitt, Characters of Shakespeare’s Plays Macbeth
completes William Shakespeare’s great tragic quartet while expanding, echoing, and altering key elements of
Hamlet, Othello, and King Lear into one of the most terrifying stage experiences. Liike Hamlet, Macbeth treats
the consequences of regicide, but from the perspective of the usurpers, not the dispossessed. Like Othello,
Macbeth centers its intrigue on the intimate relations of husband and wife: Like Liear, Macbeth explores female
villainy, creating in Lady Macbeth one of Shakespeare’s most complex, powerful, and frightening woman
characters. Different from Hamlet and Othello, in which:the tragic action is reserved for their climaxes and an
emphasis on cause over effect, Macbeth, like Lear, locates the tragic tipping point at the play’s outset to
concentrate on inexorable consequences. Like Othello, Macbeth, Shakespeare’s shortest tragedy, achieves an
almost unbearable intensity by eliminating subplots, inessential characters, and tonal shifts to focus almost
exclusively on the crime’s devastating impact on husband and wife.

What is singular about Macbeth, compared to the other three great Shakespearean tragedies, is its villain-hero.
If Hamlet mainly executes rather than murders, if Othello is “more sinned against than sinning,” and if Lear
is “a very foolish fond old man” buffeted by surrounding evil, Macbeth knowingly chooses evil and becomes
the bloodiest and most dehumanized of Shakespeare’s tragic protagonists. Macbeth treats coldblooded,
premeditated murder from the killer’s perspective, anticipating the psychological dissection and guilt-ridden
expressionism that Feodor Dostoevsky will employ in Crime and Punishment.

89  Which of the following words from the passage convey the meaning ‘the action of killing a king’?

(A) Regicide (B) Usurper (C) Protagonist (D) Executes
90  Match the characters in column 1 with their description in column 2
Column 1 Column 2

(a) Hamlet (1) Sinner

(b) Othello (ity  Coldblooded

(c) Macbeth (iii)  Foolish

(d) King Lear (iv)  Executioner
(A) " (@)-(iv). (b)), ()-(ii). (D)) (B) (@), (b)), (©)0), (D}(iv)
(©)  (a)(iii), (b)~(i1), (c)-(i), (D)-(iv) (D) (@)~(iv), (b)-(i), (c)-(ii), (D)-(iii)

91  Which of the following inferences can be made from the lines ‘What is singular about Macbeth, compared
to the other three great Shakespearean tragedies, is its villain-hero.”
(A) No kind of comparison is drawn between the four tragedies written by Shakespeare.
(B) <“Among the four tragedies written by Shakespeare, Macbeth is less of a tragedy.
(C) ...Ihe protagonists from other tragedies are less coldblooded than Macbeth is
(D) Unlike the villains from other tragedies, Macbeth is vengeful and ambitious in his plans.

92 ©  Which of the following statements do NOT find a support in the given passage?
(A) King Lear and Hamlet are longer when compared to the tragedy Macbeth
(B) The climax of the plays Othello and Hamlet showcases the element of tragedy
(C) The contrast element is less in the other tragedies than that is seen in Macbeth
(D) In Macbeth, the reactions are terrible, and most actions depict a despair
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Directions for the following 4(four) questions no. 93 to 96 :

The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

a4 (am) wesiel (6. 93 | 96) * forg frdar :

FrfaRad 4 TeieT Siisl & Frfaiad 9iese I SeTid ¢ i STsi AT & S1ee & gl & [ & | ofd: 37 geist &
fe=ar ure 7@} fean s @ B

India is the second largest producer of fish in the world, employing over 14 million people in fishing and aquaculture.
Increasing pressure on fish stocks, overcrowding of boats, pollution, degradation of habitats and destructive fishing
practices threaten the ecosystem and livelihoods of millions. Nearly 70 percent of by-catch i.e. unwanted fish collected
by fishing vessels is typically discarded to make way for commercially-important fish species. However, the ability of
our seas to replenish depends on the survival of this juvenile fish. When traditional diamond-shaped ngts are in water,
the gaps in the nets compress, leaving little room for smaller fish to escape. However, the square shaped mesh retains its
shape in the water and juvenile fish below a certain size can escape through the gap in the nets.

The square mesh net was introduced in Sindhudurg region through a partnership between the Government of
Maharashtra and the United Nations Development Programme (UNDP) which aims to demonstrate that biodiversity
conservation of coastal areas and sustainable livelihoods can go hand in hand. The partnership. is supported by the
Global Environment Facility (GEF).

The partnership brought in technical expertise from the Central Institute of Fisheries Fechnology, working closely
with local fisherfolk to introduce the square mesh net in the cod end of trawl gears in Sindhudurg. Met with initial
scepticism in this important fish landing centre, the initiative has gone a long way .in becoming something that
fishermen have embraced in their journey to sustainable marine fishing. Since 2015, every trawler in the district now
uses square mesh nets.

The new technology has increased income by INR 10,000 (US$152) each-month because diesel consumption has
declined. On an average catch of 18 kgs, it is estimated that the square mesh allows over 3 kgs of juvenile fish and
other aquatic mammals to escape, important for the survival of the seas. At first, fishermen were worried that the
new nets would exclude big fish and their catch would decline but during the trials they saw how it worked. The
nets are gaining popularity and net makers in the region-are now being trained to stich square mesh nets for use
by fishing trawlers along the state. Witnessing the movement underway in-Sindhudurg where over 300 trawlers have
adopted more sustainable fishing practices, Mahatashtra’s Fisheries Department has now issued an order proposing
the mandatory use of square mesh nets for all 17,000 trawlers in the region.

Fishermen along India’s western coast are now using square mesh nets and practicing sustainable marine fishing.
It is earning them higher incomes, protecting matine biodiversity and paving the way for policy change in one of
the country’s most important fishing coastlines.

93  From the passage identify the TRUE and FALSE statements?
(a) Using square nets by fishermen can curtail overfishing.
(b) The practice of adopting square nets is financially sustainable.
(c) Fishermen were always.enthusiastic. about using square nuts.
(d) Young fish cannot survive when farmers use square nets extensively.
(e) In the near future, many states.are likely to insist that fishermen use square nets.
(A) (@)~(T), (b)-(D), ()-(T), (D-(F), (e)-(T)  (B)  (a)«(T), (b)-(T), (c)-(F), (d)-(F), (e)-(F)
©)  @-(F), (b)-(T), (e)-(F), (D-(D), ()(T) (D) (@T), (b)-(T), ()-(F), (d)-(F), ()-(T)
94  Which of the following can be inferred from the statement “Since 2015, every trawler in the district now
uses square mesh nets”?
(A) Fishing has become-sustainable in Sindhudurg since 2015.
(B) After 2015 in Sindhudurg farmers were allowed to sell only big fish.
(C) Before 2015 sale of only juvenile fish dominated the Sindhudurg fish market.
(D) There was a“very strong movement by farmers against square mesh nets in 2015.

95  Which of the folowing inferences can be drawn based on the lines
“The new technology has increased income by INR 10,000 (US$152) each month because diesel
consumption has declined. On an average catch of 18 kgs, it is estimated that the square mesh allows
over 3 kgs of juvenile fish and other aquatic mammals to escape, important for the survival of the seas™?
(A) The new technology adopted is leading to the escape of 3 kgs of juvenile fish.
(B) .Square mesh nets are profitable for the farmer and his savings will also increase.
(C) When diesel consumption and juvenile fish capture increase, it is unsafe for marine biodiversity.
(D) By adopting square mesh nets all farmers will capture at least 21 kgs of fish.

96  Which of the following sentences from the passage holds the word which conveys the meaning “Have
doubts about the truth of something”?
(A) Met with initial scepticism in this important fish landing centre, the initiative has gone a long way.
(B) Maharashtra’s Fisheries Department has now issued an order proposing the mandatory use of
square mesh nets
(C) Biodiversity conservation of coastal areas and sustainable livelihoods can go hand in hand
(D) Net makers in the region are now being trained to stich square mesh nets

Page - 30



Directions for the following 4(four) questions no. 97 to 100 :

The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

frafafaa 4(@Aw) g9l (|, 97 A 100) F o st -

frrfafaa 4 weisn si¥sT & Frafafad afeess TX naTfid & ofiT Sisi AT % e & qdeT & e & | of: 37 weaien &
fe=ir ure 7@ fean s <@ ¥

The rich have many assets; the poor have only one—their labour. Because good jobs are slow to come to the
poor, the poor must move to find productive employment. Migration is, therefore, the most effective way to
reduce poverty and share prosperity, the twin goals of the World Bank. Not surprisingly, all development
experiences and growth episodes in history have involved a reallocation of labour across space and sectors
within countries.

According to ‘Moving for Prosperity: Global Migration and Labour Markets’, however, some of the biggest
gains come from the movement of people between countries. Migrants® incomes increase three to six times
when they move from lower- to higher-income countries. These gains remain largely notional because most
people cannot move. Only about 3 percent of the world’s population live in a country in which they were not
born, a proportion that has not changed much over six decades ‘of otherwise unprecedented global integration,
via trade, investment, and knowledge flows. Distances in space, culture, and language are inherent impediments
to mobility. The most important barriers are, however, national borders.

The gains for immigrants do not come at the expense of host countries because the hosts benefit from the
complementary skills that immigrants bring, or because hosts are consumers of the products and services
immigrants provide. Almost every empirical study finds that increased. labour mobility leads to large gains for
the immigrants and positive overall gains for the destination country. Fhat creates a puzzle. The compelling
economic evidence on the economic gains and.social benefits of migration sits awkwardly with stark political
opposition to immigration. Respondents to political-epinion polls rate the arrival of immigrants in their countries
as among their worst fears. Citizens worried about what. migrants and refugees would do to jobs and wages,
welfare programs, crime, schools, and their national identity. Frustrated by the public’s disregard of their
empirical findings, many economists attribute political opposition to cultural and social factors, including
xenophobia.

97  From the lines “These gains remain largely notional because most people cannot move” it can be inferred
that
(A) People are made to move to' other countries against their wishes.
(B) Theoretically migration is likely to look like a boon to many.
(C) People migrate to another country only with the intention of gains.
(D) Any form of gains for the migrants is only temporary and permanent.
98  The statement from the passage, 'The gains for immigrants do not come at the expense of host countries.’
means
(A) The immigrants can make a comfortable living only if the host countries agree.
(B) The immigrants.are contributing to the host countries and not the other way.
(C) The host countries do not have to make any sacrifices to accommodate immigrants.
(D) The host countries will have to spend a lot of their resources to maintain immigrants.

99  Which of the. following words from the last sentence in the passage conveys the following meaning
“Dislike of.or: prejudice against people from other countries™?
(A) Frustrated (B) Disregard (C) Empirical (D) Xenophobia

100 Which. of the following can be inferred from the statement “Because good jobs are slow to come to the
poor, the poor must move to find productive employment™?
(A) Productive employment is not in the reach of the locals from host countries
(B) Economically sound people have greater chances of finding lucrative jobs
(C) To find profitable employment one should not be an immigrant in a host country.
(D) Poor people have no chance of getting a lucrative job in their own country.
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HCS(Ex.Br.) & other Allied Service Preliminary Exam-2021 held on 24.07.2022

Master Answer Key - Paper-1l (Evening Session) - CSAT

Q.No. Answer Q.No. Answer Q.No. Answer Q.No. Answer
1 C 26 B 51 D 76 A
2 B 27 C 52 A 77 D
3 B 28 B 53 C 78 A
4 D 29 D 54 B 79 A
5 A 30 C 55 B 80 C
6 C 31 D 56 A 81 A
7 D 32 B 57 C 82 B
8 A 33 C 58 C 83 A
9 C 34 C 59 D 84 D

10 A 35 A 60 C 85 C
11 C 36 A 61 A 86 A
12 B 37 B 62 B 87 B
13 C 38 D 63 D 88 B
14 B 39 C 64 A 89 A
15 C 40 C 65 B 90 D
16 B 41 A 66 C 91 C
17 D 42 D 67 C 92 C
18 C 43 D 68 B 93 D
19 B 44 A 69 D 94 A
20 D 45 A 70 D 95 C
21 B 46 A 71 D 96 A
22 C 47 C 72 A 97 B
23 A 48 A 73 C 98 C
24 B 49 A 74 B 99 D
25 C 50 B 75 B 100 B






